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Topic:- Child Development & Pedagogy (CDP)

1) The two main motivation categories of needs are . | TaRgHal i &l G-I WP Aori
____®

1. reward based and fear-based /Eﬁ?\‘ﬂﬁ? TR 3R 1 3MeTRd

2. intrinsic and reward based / 3TdR® Gﬁ? H\I&IISd 3rerid

3. intrinsic and extrinsic / 3TdR® @TE’IE]
4, extrinsic and fear-based /EHBQQI 3R vy 3memia

Correct Answer :-

« intrinsic and extrinsic / 3ffdR® @TE’I’({[

stage is termed as ‘Questioning Age’ as well as ‘Gang Age’. / SART B

'%%rﬁﬂﬁvr & FTY-J1Y AT O W RTS8l
1. Adolescence / fhRIR

2. Adulthood / U¥h

3. Early Childhood / URT®® §9U4

4, Later Childhood / U¥ §dUd

Correct Answer :-

« Later Childhood / U¥ ddU-

3) Applied behavior analysis (ABA) is used to help children with which of the following
conditions? / SIUYT HdER faxawvr (TH.T.) &1 wah g=i & Fafafaa o | fea Rufa &
HeS B4 & forg fpar siran 82

1. Attentional deficit disorder / &ATHIG faHR (31€f-‘2I'1¢1 fSftRRre %F&ﬁ%T)
2. Dyslexia / )Ue T THwT (FS¥eiforRrn)




3. Autism / XTI (3iTTewH)
4. Dyspraxia / QA=Y 9o (FSavifaRmm)

Correct Answer :-

. Autism / ST (3Mffew)

4) Mnemonics is a technique. / '\‘Hﬁf ﬁ?l'ﬁ CAGETIEY % I
1. Reading / UTS
2. Writing / SLCE]

3. Evaluating / Hedldh1
4. Memorizing / Yl X[

Correct Answer :-

« Memorizing / glq XG]

5) What is the term used by Vygotsky to describe the type of role that parents and teachers have in a

child’s development? / Udh ¥ & faer | Arar-fudr ik ﬁT&'ﬁ'ﬁ Gl ‘Hﬁﬁ)‘l BT U PIA P ﬁl’({
IS gRT f5 Ug T IUanT 5 1ar 32

1. Scissoring /ae_gur (Rreife)
2. Scaffolding / TTATRIE TeTadT (RBWHICET)
3. Lecturing / UISHTT

4. Teaching / TR1&01

Correct Answer :-

« Scaffolding / GG TETIAT (THWHIeET)

6) What is the term used to describe the typical, highly representational example of a particular

concept? / frd} faRiw srauRun & fafkry, 3= e aret IeTevur &1 aufq 1 & fore feg ug &1
IUART fhaT STar 82

1. Heuristic / W’Fﬁ

2. Symbol / Tohd

3. Prototype / Uiciergyg
4. Premise / ORER (Dﬂﬁlﬂ)

Correct Answer :-



» Prototype / giclersy

7) What type of questions would likely measure abstract reasoning in an intelligence test? / U

gisaar wdierr ¥ f5a ueR & Uyl & gd adb &) AT $t JUTET 82
1. Comprehension / §1Y

2. Matrix reasoning / Afead ad

3. Synonyms / GHFTI® Teq

4. Similarities / FHATY
Correct Answer :-
« Similarities / GHFATS

8) What are tests that taken into account the environment in which a child learns called? /

T DI A U&7 § O I AIEIE DI &= § vad g o U g SiftRr fva 82
1. Accuracy tests / TREIGl TRIET0T

2. Power tests / & URI&0T

3. Culture fair tests / STl fFeqef gTeror

4. Speed tests / TTcl URI&f0T

Correct Answer :-

« Culture fair tests / S¥pfd Fqef gteon

9) What from the following options constitute language and thought together?/ fafafeafieaia
YTHT 3R fraR e a1y &1 594 82

1. Spatial thinking/ R fidw
2. Logical thinking/ dd fid=

3. Visual thinking/ =4 fa=

4. Verbal thinking/ e fia

Correct Answer :-

« Verbal thinking/ A& feia

10) To do well as a financier, one should have: / T tmsﬁ'a? P EUH ADBIHIA & fore, f<ht &
IR g1 91

1. Musical intelligence/ Iitaag §@
2. Kinesthetic intelligence/ RS §f§ @Bﬁf@% 3%1%‘!@@)



3. Spatial intelligence / fa=y Tg’@ @RTd gefereia)
4. Logical intelligence/ afde §@

Correct Answer :-

 Logical intelligence/ GIEZED Ej@

11) An investigator doing laboratory experiments and gathering data comes under: / b AP

STTRITEN # ST Y S T Tl § T R afertar o 2
1. primary data/ UT{Heh m

2. final data/ 3ifcd 3{‘@—\%

3. tertiary data/ W Gﬁﬁ

4. secondary data/ o m

Correct Answer :-

e primary data/ I e S{\Iﬁ

12) Human development is a process. / Wﬁmw m%l
1. Sporadic / AR (TRFEH)

2. Random / BICIET é@ﬂ)

3. Cumulative / T (@ggeq)

4, Intermittent / 3R (éC*{mEC)

Correct Answer :-

« Cumulative / Gadt (ﬂgﬂ@lﬁﬂ)

13) Which of the following is NOT the benefit of active learning? / Frafafad 7 S #19-a1 afea
SHFRTH BT 1Y T8 32

1. Develops Collaborative skills / qu\l‘ THD Of?lbllﬂ fam g BT

2. Home work / Ts’Erﬁ (Eﬁtf a$)
3. Improves critical thinking / TS i B dgadR S

4. Encourages risk taking / SIRIH T DI T gd DAl

Correct Answer :-

e Home work / 11‘5'-$r8f (Eﬁ'q EI*)



Which of the following is not an aspect of learning? / fFrafafea 94 3 s19-a1 iftra 17w Ugq
TR 32

1. Biological preprogramming / Sfae o

2. Permanence / RIT@

3. Behavioural change / dgR gfad

4. Experience / 3JHd

Correct Answer :-

» Biological preprogramming / Sfae gt

15) In order to avoid punishment, it is always better to obey the rules. This kind of acceptance is seen
in which of the following stages of moral development? / JSIT GECEE:] ferg, Fradi &1 ures B g
JgR giar 3 | FafafeEa o @ e o o Afae fem & 53 wiefa & daremare?

1. Postconventional morality/ URd URURe® Afddmdr

2. Transcendental morality/ URANfBH Afadmdr @Rﬁéﬁﬁ aRIfereh)
3. Conventional morality/ TRUR® A

4. Preconventional morality / Uﬁ URURS Afadmdr

Correct Answer :-

« Preconventional morality / Jd URGR Afaddl

16) If a child loses weight rapidly and does not seem to eat throughout the day, what disorder might

s/he be diagnosedwith?/ﬁwﬁwaﬁﬁﬁmmﬁmgéﬁ?ﬁﬁquﬁma
A SHH PI-41 faPR uran o1 9% a1 82

1. Obesity / Arerar

2. Anorexia nervosa / TR GRTT FaT
3. Tic disorder / f¢® fd®R

4. Insomnia / 3T

Correct Answer :-

« Anorexia nervosa / TARGIAT 9t

17) A Neo-Freudian, whose ideas on child development had a major influence, was /G d4-

wrafsyad, o e gRT 91d faer uR fou e faari &1 ve g1 yva o1, 9 |
1. Erik Erikson / TR TRag—
2. Jean Piaget/\_rﬁ:ffqm@f



3. Carl Rogers/mm
4. Carl Jung/ao'l?fﬂ""l

Correct Answer :-

o Erik Erikson / TR® EW

18) Who first used the term “Self-actualization” to describe completion and unity?/ ﬁ)_\"-ﬁEUhT 3R
TS Al &1 9 A & e T ugd 3 Rifs <rsg &1 v faam o

1. Alfred Adler/ 3/3hS TSR

2. Abraham Harold Maslow/ 3{STgH gRics ARl
3. Karen Horney/ P Eﬁ

4. Carl Jung/ W@T

Correct Answer :-
e Abraham Harold Maslow/ 3{§TgH g A

19) The term SLD in children’s mental health denotes for: / S} & AP WY A TATAS! WS BT
3 %:

1. Self- Learning Direction. / e AT SRR

2. Special Learning Direction / WIS AT STIRGRHA

3. Specific Learning Disorder / wfftee A fegsiier

4. Symptoms of Learning Disorder. / Rrgery offs af- fegsiier

Correct Answer :-

 Specific Learning Disorder / TWiftre af- fegsiiex

20) The perception of a situation as a ‘whole’ gives a better understanding than the sum total of its
parts and makes the occurrence of insight possible. Which learning has this as its basis? / ’ﬂ"q:Uf’ &

U ¥ Te fRIMY FT 4Rom v R & 9 w7 dgar I751 ¢t € 3R 3iaeid Ft g1 &) Hya =t @)
ST FY frd faen HY SHST SMUR AT STa1 82

1. Trial and Error Learning / GR1&07 3R e st
2. Learning by Insight / SIT=ID & HIegH 31Ty
3. Learning by Imitation / 30l & HATEH I S

4. Learning by Experience / 3JHd & TIHH T S

Correct Answer :-

e Learning by Insight / SIS & HIegH 31Ty



21) The child will be able to use proper sentences by the age of: / ST ra 3u & 3fa arei &1
SUINT S YTAT:

1. Five years / Uid 9
2. Four years / dIX CL
3. Three years / GIREL]

4. Six years / ©: CL

Correct Answer :-

o Three years / GIRECL]

22) The rules of presenting the content to make them easy are called ./ AT BT ST
T & fore v & & i & FETAEI I

1. Maxims of teaching / fRrefor &1 Rrgid
2. Techniques of teaching / fRI&U1 &1 At
3. Methods of teaching / FR1&mor &1 fafd

4. Teaching strategies / TRI&07 UM

Correct Answer :-

e Maxims of teaching / fRreror &1 Rrgid

23) Proximodistal means: / THIT A g¥ (MRIMSwa) #1314 &:
1. Centre to periphery / d-% & GRIY dd (Tex ¢ URH)

2. General to specific / ITH Y a1y d (GFRd ¢ WRIh )

3. Head to toe / RR Y TR & 7S I (38 T AIT)

4. Simple to complex /RA G Sfed d& (e gm

Correct Answer :-

o Centre to periphery / &% 9 IR TP (Aex < TR

24) Teachers should overall have attitude towards inclusive education. /

Rrgel P T ET A TRM R F R Fwm e
1. Positive / ShRIHD
2. Negative / ATDPRIHD

3. Different / YYh



4. Neutral /ﬁ'ﬁq&‘f

Correct Answer :-

e Positive / SDhR[HD

25) Social construction of gender describes gender as: /ﬁ‘i’ﬂ &1 qraTiore fAafor feir &1
U HRaT 8

1. Personal opinion of their biological sex. / fd@ fofiT & SR T It e 4|
2. The behaviors and characteristics based on the biological sexes. /@ﬁw el & TR T

AER 3R Ay |

3. A person is biologically male or female or intersex. / Ydh [dd Sl[dch = | goy g1 gfgarar

SRR BTG |

4. A social identity with characteristics placed by society for each biological sex. / U i foi &
foTT TS GRT 99115 715 faRISarsil & 1 Ueh Ao g |

Correct Answer :-

» A social identity with characteristics placed by society for each biological sex. / TP Sfde fofiT &
foTT TS GRT 913 713 foRSarsil & 1Y U WIS g |

26) What are the three components of the educational process? /ﬁ%maﬁﬁquﬁ?
1. Teacher, Student and Education /ﬁTW, BJE 3ﬁ?ﬁT&‘IT
2. Teaching, Learning and Practice/ﬁT&‘l'UT, ST 3R 3

3. Education ,Teacher and Books/fQT&ﬂ, fRrer® QTW
4, Direction, Instruction and Skill / faw i \}Iﬂ%ﬁ 3R PR

Correct Answer :-

o Teacher, Student and Education /ﬁT&W, EJE] GﬁTﬁT&ﬂ

27) A teacher who pressurizes his/her student to take his/her private tuition
lacks in which of the following code of professional ethics? / T®h ﬁT&W S 3
BT B (Al egy™ a1 & 1T gara sTaar/ st g, Fafafed & 3 sud saaaie
Afawar ot fra dfgar 1 w3t 32

1. Attitude towards students / CIFICACIG] \Hﬁ-@ﬁf

2. Attitude towards coIIeagues/ﬂBW%Qﬁ 3‘|ﬁ-|§ﬁf
3. Attitude towards society / JHTS & Ufd G{T\ll_qﬁf

4. Attitude towards profession /W%Uﬁf &ﬁ\l@%



Correct Answer :-

 Attitude towards profession /W%Uﬁf GFﬁ-IQﬁT

28) CANCELLED

Who describes mesosystem for how the different parts of a child’s microsystem work together for the

scale of the child?/ﬁmﬁﬁ?ﬁﬁmaﬁaﬁhﬁm%mwaﬁ%mﬁm%%ﬁm
YT TS 1Y = & T & g S dd 32

1. Erikson/ W
2. Piaget/ oS

3. Vygotsky/ awﬂ?\‘aﬁ
4. Bronfenbrenner’s / STB-TSIR

Correct Answer :-

e Bronfenbrenner’s / @ﬁw:ﬁ
29) Kohlberg’s theory dealt with: /W’f%ﬁl&'ﬁ A Gt g
1. Morality/aﬁav_d'[

2. Perception / YR

3. Cognition /\’rfﬁ?-ﬂ%l
4. Interaction /F&[

Correct Answer :-

. Morality/ﬁﬁlﬁT

30) Which of the following is the most effective way to create interest for learning in a student? /

el & @ = {5 o= # siftrm & fore i1 Ue1 37 1 9ed guid a8ie1 |1 3?2
1. Show relevance to their future / 3% HfTT & ﬁ“l'q URieRar faxam

2. Activity based learning / Tifafafdr snemia srerg=

3. Theory supported learning / Rrgid smeid siega=

4. Teacher centered approach for learning/ SfEATH & ford sieamues Semia wfafe

Correct Answer :-

« Show relevance to their future / 3% HIA®T & f%fq UGl fie@m™

Topic:- General English(L1GE)



1) Choose the appropriate synonym for the highlighted word in the given sentence.

Whenever I check-in to any hotel, I look for a page immediately.
1. Receptionist

2. Hotel staff

3. Security personnel

4. Uniformed attendant

Correct Answer :-

o Uniformed attendant

2) Select a suitable determiner to complete the given sentence:

The speaker asked the audience if they had questions for him.

1. any
2. little
3. few

4. much

Correct Answer :-

3) Choose appropriate article for the given sentence:

Hari drives at a speed of 90 miles___ hour.
1. an

2. the

3.a

4. no article

Correct Answer :-

4) Choose appropriate articles for the given sentence:



He bought  wonderful blue T-shirt and wore itin ____ evening.
1. a, the

2. an, the

3.a,a

4. the, the

Correct Answer :-
e a,the

5) Choose the appropriate option that rewrites the given sentence in its passive voice.

Matthew threw the ball.

1. Ball thrown by the Matthew.

2. The ball was threw by Matthew.
3. The ball was thrown by Matthew.

4. The ball was thrown at by Matthew.

Correct Answer :-
o The ball was thrown by Matthew.

6) Choose the appropriate option to convert the given sentence from direct speech to indirect
speech.

My teacher said, "Oil floats on water.”

1. My teacher said that oil floats on water.

2. My teacher taught me oil floated on water.
3. My teacher told oil floated on water.

4. | was told that oil floats on water.

Correct Answer :-

» My teacher said that oil floats on water.

7) Choose the appropriate tenses to fill in the blanks in the given sentence:

I cannot hear what you because of the loud noise from outside.

1. had said, is coming

2. is said, was coming



3. are saying, coming

4. said, came

Correct Answer :-
* are saying, coming

8) Choose the appropriate antonym for the highlighted word in the given sentence.

The presence of the Principal walking in the corridor was unpleasant to the students.
1. Overture

2. Absence

3. Silence

4, Existence

Correct Answer :-
e Absence

9) Choose the appropriate conjunction for the given sentence.

the teacher explained the topic several times, some of the students still did not
understand.

1. Although
2. Unless
3. As

4, Since

Correct Answer :-
e Although

10) Choose an appropriate modal for the given sentence:

If you wanted a better job, you have studied further.

1. will
2. ought to

3. may



4., can

Correct Answer :-

11) Choose the option that best explains the highlighted expression:

The new team had four projects in hand before embarking into a new one.

1. out of reach
2. within reach
3. not far off

4. already under them

Correct Answer :-
e already under them

12) Choose the option that combines the sentence correctly.

Our teacher is retiring. Our teacher will be 65 this year.

1. Our teacher, who will be retiring, who will be 65 this year.

2. Our teacher, who will be 65 this year, is retiring.

3. Our teacher is retiring because our teacher will be 65 this year.

4. Our teacher who is retiring, our teacher will be 65.

Correct Answer :-
e Our teacher, who will be 65 this year, is retiring.

13) Choose the most suitable pronouns for the given sentence:

____coatisold and torn. Why don’t _____discard _____ ?
1. Their ... you ... them

2. My ... 1...us

3. Your ...you ... it

4. You ... you ... him



Correct Answer :-
e Your..you...it

14) Choose the correct option to fill in the blank in the given sentence:

These shopping bags are --usable, which means they can be used again.
1. de--
2. re--
3. un--

4, mis--

Correct Answer :-

15) Read the sentence carefully and choose the option that has an error in it:

My sister and I went for a walk in the forest and we are lost.
1. in the forest

2. and we are lost.

3. went for a walk

4. My sister and |

Correct Answer :-

e and we are lost.

16) Read the passage carefully and answer the question that follows :

Early last month I was at Alang, India’s ship breaking hub. On our itinerary list were the newly-constructed
dormitory units that the Gujarat Maritime Board has built. Well laid out dormitory blocks with each unit having a
service kitchen. There were rows of toilets and bathrooms with piped water. There was also a common mess where
food would be cooked and served for shipyard workers. The place, though modest, was a dramatic upgrade from
the shanties — with no water, no toilet and missing drainage — where most Alang workers currently live. Yet, the
officials said that the newly-built dorms had few takers. One of the biggest reasons, they said, is that the workers
didn’t want to disrupt their social circle. Far away from home and their families, they normally stay in groups
often belonging to their village or region. And shifting to a government-built dorm, they would have little say in
who they share the dormitory with.



Which are the two places that the author compares in this passage?

1. The government-built dormitories with all facilities and the current shanties with no facilities.
2. The government-built dormitories with no facilities and the current shanties with all facilities.
3. The government-built shanties with all facilities and the current dormitories with no facilities.

4. The government-built shanties with no facilities and the current dormitories with all facilities.

Correct Answer :-

e The government-built dormitories with all facilities and the current shanties with no facilities.

17) Read the passage carefully and answer the question that follows:

Early last month I was at Alang, India’s ship breaking hub. On our itinerary list were the newly-constructed
dormitory units that the Gujarat Maritime Board has built. Well laid out dormitory blocks with each unit having a
service kitchen. There were rows of toilets and bathrooms with piped water. There was also a common mess where
food would be cooked and served for shipyard workers. The place, though modest, was a dramatic upgrade from
the shanties — with no water, no toilet and missing drainage — where most Alang workers currently live. Yet, the
officials said that the newly-built dorms had few takers. One of the biggest reasons, they said, is that the workers
didn’t want to disrupt their social circle. Far away from home and their families, they normally stay in groups
often belonging to their village or region. And shifting to a government-built dorm, they would have little say in
who they share the dormitory with.

In the context of the passage, what does the term ‘itinerary list’ imply?
1. List of places to visit

2. List of things to carry

3. List of units to construct

4, List of items to record

Correct Answer :-

» List of places to visit

18) Read the passage carefully and answer the question that follows:

Early last month I was at Alang, India’s ship breaking hub. On our itinerary list were the newly-constructed
dormitory units that the Gujarat Maritime Board has built. Well laid out dormitory blocks with each unit having a
service kitchen. There were rows of toilets and bathrooms with piped water. There was also a common mess where
food would be cooked and served for shipyard workers. The place, though modest, was a dramatic upgrade from
the shanties — with no water, no toilet and missing drainage — where most Alang workers currently live. Yet, the
officials said that the newly-built dorms had few takers. One of the biggest reasons, they said, is that the workers
didn’t want to disrupt their social circle. Far away from home and their families, they normally stay in groups
often belonging to their village or region. And shifting to a government-built dorm, they would have little say in
who they share the dormitory with.



‘Who comprised of a shipyard worker’s social circle at Alang?
1. All their coworkers

2. Their family

3. People from other villages or region

4. People from their village or region

Correct Answer :-

» People from their village or region

19) Read the passage carefully and answer the question that follows:

In 1948, the World Health Organization (WHQ) defined health with a phrase that is still used today. '""Health is a
state of complete physical, mental and social well-being and not merely the absence of disease or infirmity." In
1986, the WHO further clarified that health is: "' A resource for everyday life, not the objective of living. Health is a
positive concept emphasizing social and personal resources, as well as physical capacities." This means that health
is a resource to support an individual's function in wider society. A healthful lifestyle provides the means to lead a
full life. More recently, researchers have defined health as the ability of a body to adapt to new threats and
infirmities. They base this on the idea that modern science has dramatically increased human awareness of
diseases and how they work in the last few decades.

What is the assumption on which WHO has based their definition and description of health?
1. There are hardly any new threats or infirmities in today’s world

2. Nowadays we have a clear understanding of how diseases work

3. Modern Science is at the nadir of its understanding of diseases

4. Health is a positive concept that is the objective of living nowadays

Correct Answer :-

» Nowadays we have a clear understanding of how diseases work

20) Read the passage carefully and answer the question that follows:

In 1948, the World Health Organization (WHQO) defined health with a phrase that is still used today. '""Health is a
state of complete physical, mental and social well-being and not merely the absence of disease or infirmity." In
1986, the WHO further clarified that health is: " A resource for everyday life, not the objective of living. Health is a
positive concept emphasizing social and personal resources, as well as physical capacities." This means that health
is a resource to support an individual's function in wider society. A healthful lifestyle provides the means to lead a
full life. More recently, researchers have defined health as the ability of a body to adapt to new threats and
infirmities. They base this on the idea that modern science has dramatically increased human awareness of
diseases and how they work in the last few decades.



According to WHO, which of the following is the essential for Health?

1. Merely the absence of disease or infirmity and complete social well-being

2. Physical, mental and social well-being and the absence of disease or infirmity
3. Absence of diseases and physical, mental and social well-being

4, Complete infirmity and also complete physical, mental and social well-being

Correct Answer :-

» Physical, mental and social well-being and the absence of disease or infirmity

21) Read the passage carefully and answer the question that follows:

In 1948, the World Health Organization (WHO) defined health with a phrase that is still used today. "Health is a
state of complete physical, mental and social well-being and not merely the absence of disease or infirmity." In
1986, the WHO further clarified that health is: " A resource for everyday life, not the objective of living. Health is a
positive concept emphasizing social and personal resources, as well as physical capacities." This means that health
is a resource to support an individual's function in wider society. A healthful lifestyle provides the means to lead a
full life. More recently, researchers have defined health as the ability of a body to adapt to new threats and
infirmities. They base this on the idea that modern science has dramatically increased human awareness of
diseases and how they work in the last few decades.

Healthisa __ for everyday life and not the __ of living.
1. resource, objective
2. resource, resource
3. objective, resource

4. objective, objective

Correct Answer :-

e resource, objective

22) Read the passage carefully and answer the question that follows:

Early last month I was at Alang, India’s ship breaking hub. On our itinerary list were the newly-
constructed dormitory units that the Gujarat Maritime Board has built. Well laid out dormitory blocks
with each unit having a service kitchen. There were rows of toilets and bathrooms with piped water. There
was also a common mess where food would be cooked and served for shipyard workers. The place, though
modest, was a dramatic upgrade from the shanties — with no water, no toilet and missing drainage — where
most Alang workers currently live. Yet, the officials said that the newly-built dorms had few takers. One of
the biggest reasons, they said, is that the workers didn’t want to disrupt their social circle. Far away from



home and their families, they normally stay in groups often belonging to their village or region. And
shifting to a government-built dorm, they would have little say in who they share the dormitory with.

According to the officials, what was the issue with the newly built dormitories?
1. Most of the shipyard workers were ready to move into the dorms

2. There were few takers for the idea that they should continue to live in the shanties
3. Hardly any shipyard worker was ready to move into the dorms

4. The demand was so high that they didn’t have enough dorms to give

Correct Answer :-
» Hardly any shipyard worker was ready to move into the dorms

23) Read the passage carefully and answer the question that follows:

In 1948, the World Health Organization (WHQO) defined health with a phrase that is still used today.
""Health is a state of complete physical, mental and social well-being and not merely the absence of disease
or infirmity." In 1986, the WHO further clarified that health is: "A resource for everyday life, not the
objective of living. Health is a positive concept emphasizing social and personal resources, as well as
physical capacities.”" This means that health is a resource to support an individual's function in wider
society. A healthful lifestyle provides the means to lead a full life. More recently, researchers have defined
health as the ability of a body to adapt to new threats and infirmities. They base this on the idea that
modern science has dramatically increased human awareness of diseases and how they work in the last few
decades.

What are the various aspects of our existence that health emphasizes?
1. Social resources, personal resources, and physical capabilities

2. Physical infirmity, mental disease, and social absence

3. Everyday life, objective of living, and positive concept

4. Individual’s function, wider society, threats and infirmities

Correct Answer :-

» Social resources, personal resources, and physical capabilities

24) Choose the right tag:

Nobody in that office team had much in common, ?

1. don’t they



2. do they
3. didn’t they

4. did they

Correct Answer :-

o did they

25) Choose the appropriate tense to fill in the blank in the given sentence:
By the end of this year, she travelled for 8 months.

1. will have

2. will had

3. has

4. had

Correct Answer :-

o will have

26) Choose the appropriate prepositions for the given sentence:

A passer-by threw a pebble the stray dog, which landed the animal’s head with a great
force.

1. in, to
2. on, on
3. at, on

4. for, from

Correct Answer :-

27) Fill in the blank with the correct option in the given sentence:

After trying for a long time his persist paid off and he finally got a job.

1. ---ant
2. —-ing
3. -—-ence

4, ---ance



Correct Answer :-

* ---ence

28) Choose the option that substitutes the given phrase appropriately.

One who leads an austere life
1. Philanthropist

2. Vagabond

3. Recluse

4. Ascetic

Correct Answer :-
e Ascetic

29) Choose the right tag:

It is quite true, ?
l.is it

2.isn'tit

3. does it

4, don't it

Correct Answer :-
e isn'tit

30) Rewrite the following changing the passive sentence to active.
You ought to have finished the task.

1. The task ought to have been finished by you.

2. The task ought to have been finish by you.

3. The task ought to has finished by you.

4. The task ought to has been finished by you.

Correct Answer :-

» The task ought to have been finished by you.



Topic:- General Hindi(L2GH)

1) “@H ga? IJfa - TR TR-a & Bt afdr o,
FR T3 FIel &1 guamg gur 3t uR | il

AR fayia R THid - ST BT JAT 53T 6%,

TP HIUTHY Yo HIF 3R e 7 &7 3T 17
G198 U A 9Y TR AYH $I1-91 5« T,

e g a1 waa JuE uyH $a &1 < R 9,
T fedr-a1 @ wed, e @ ge-a o,

T Y61 98 Gex a2 $ed 36 7 &1 e W |

3R W U8 YR TXY U BT §5olTd TR,
FYU-3UT H 1 T dfdT A forger a-=amy |
FQU B1 ATPIA 9T SIR TP Well HTAT S,
AY-ya--pifed i R AT, GROTUT g1 FRH-Gg,
YT YR 3 & e 9 a1at Awi & 9,

TP 2 A AP aY Hid 91 g1 YT HrAA a¥ |

et alver e GHaR e 6T GG SILge I,
e gt sul faeTell &1 wa faa s et 3 |
3TE, I8 g@! UF3H & oH S oie fRd &) a9,
3PV Y- Hesd SAP! N faars dar &) ofaemy |

a1 o, 19 TS Y 47T BIS R YUP I 7 P,
TS OY SAargd! 3rad Aradt ot § sigia

iR 32 A JERTe 919 3T Jqefad & & U,

e ¥ MDA GPUR U B Ay & a7 |

ST UL Y UgHR -1 I T UY HT IR qa13:
- TR Uelie & P |9 971 82

LH]

2. g5

3. STl

4, TRy

Correct Answer :-



2) “PI gH? FYfa-Say TR-a&m & Bt Afor v,
FR T ol &1 guamg gyt 3t uR 3 e

TR fayia R THia-SHTd BT JaT g1 6%,

TS HHUHYG G M 3R Tad 74 $T A |”
G198 0 A 9Y JoIR AYHI S1-91 99 I,

e g a1 waa GuH vyw S &1 w1 Yo 9,
o fYresr-ar o wed, e o ge-a a1,

T YT 98 Yex a2 $ed 36 71 91 e WA |
3R 3 U7 YaR T T BT 51Tl AR,
FYA-IUT | Td1 U afeT § forver a=amT |
TSU B 3P ITeT ISR Teb Tl HTAT S,
Y-ya--pifEa s Rigy e, YR 8 SRy-ugad,
HYOT YR G & el A7 ek AST & 74,

TP 2 A TP qY Hid 9 g1 YT HrAa a¥f |

e g v JHAR Ga 38T Jgd SHURgaT 3,
e 1 <t fartelt &1 a daae g Tt 3 |

T8, 98 g YA & o0 di v fRRd g a=am,
3reur If-Hee et Ug fewrs AaT gt ofaum |

a1 {5, 79§51 Y 471 BIS PR YU Vel & Pi,
TP OY SAAargd! e Aradt woret § srgid

iR 7@ A YIRTS 919 3 Sraafad 4R & T,

e o1 MaP-A GPUR WA B faY & oy |

UG U= B UGHR AA1d I MY UH HT IR qaA154:
WS- U Ui § AT A R 4T b gen 82
1. A & §Tell 9 94 HUg

2. 09 o 98 4 4

3. 918!

4. el $UG

Correct Answer :-

. AN IH AT

3) “PHF gu? IYfd - T TR-a S Bt ufdr v,
P 3¢ A5 BT U= gHT $t UR F fime?



AYR fayia 3R THid — STd BT AT g3 ITH,
TS HHUMHYG G M 3R Iad 74 HT A |7
AT 98 9] A AY [oIR AYD B1-91 99 A<,
e g e ua J9 w9 $fa &1 <491 o) 9,
% FRewr-ar am vy, Fea aft ge-A o1,

T YT 98 Yex Eid? $qed 36 7 ST e M |
3R 3T UE YeR TG 74 BT F5olTdl SRR,
FYA-IUT | a1 G afeT A frver a9=am |
TSU B TP ITeT ISR Teh Tl HTAT S,
AY-Ua-ifEa SO Rigy T, YR 8 SRY-wga,
AYOT YR 3 & e 9 a1at A9 & °H,

& T7 A SHBT Y Hid 91 8T YT S H |

et afver S YHHAR Go 6T Hgo SreRge 34,
& 8 <t fasrelt &1 ot Aruast S ard 3 |
318, 98 G9! U3 & 0 di9 oid fiRd g1 g=am,
30T IfY-Hed STp! g fa@Ts a1 g1 Sfdur |
a1 o, 719 $511 WY 471 BIS IR YU I E P,
TP OY SAargd! s Aradt wort § srgid

iR @ A YIRTS 919 3 Sraafad 9 & T,

e o1 MDA GHUR WA B fay & Iy |
ST U= $ UgHR A7 U 7T UY T 30X I133:
UH- g BT JATA g -

1. S

2. 41

3. UGBl
4. g

Correct Answer :-

4) “® g2 Tgfa - Faffy fR-an @ B afdr e,
FX TR el &1 gueme gyt 3t 4R | ifie?

TR fagia 3R THid - STd T JAT g3 8,

TP HIUTHY Y2 W 3R dea 7 BT 3T 17



1 % A 7 7Y [OIR AYH H1-91 79 W<,
e g e Ha J9 Y $ia &1 <491 o) 9,
TS Rrewr-ar am vy, e ait ge-A o1,

T 38T 9% JYox T2 Fga 78 9 91 e 1 |
3R 3T UE YeR TG 74 BT F5olTd SR,
FHA-IYT | a1 G afeT A River a9 |
TCT B1 TP 1T SAR TP Well HTAT SHH],
TY-ua--IfSd SO Rigy ara, R 8 SRY-3ga,
AYOT YR 3 & e 9 a1at A6 & °H,

%@ @ A SUBT Y Hid a1 38T YT HIa IH |

e aRver 9 AR G 6T GG ST 3,
e 8 <l fasTel @1 Ba Hea S Tare 9 |
3TE, 98 g UF3H & oy dfiw w9 iR 8 g9,
VT IfY-Hed STP! g @S a1 81 Bfur |

g1 f, 99 §5-11d @Y 47T WIS B YYD &1 gl Pid,
TS OY SAargd! 3rad qradt o1 # Sigid

R 78 & YERTS 919 3 Sradifad U & UT,

e 91 AP GHAR WA B Ay F ur |

ST U= $ UgHh A2 U 7T UY BT 30X I133:
- ATR®T A 59 31 & 9% YRUT fHu gu @2
1. AR

2. i

3.8

4, T[aTTel!

Correct Answer :-

5) “PI gH? TYFd — ST TR-aw & ot afdr o,
P 3¢ S BT guamg guT ot YR I ifius?

AR fayia ok THid - ST BT JA 53T 6%,

TP HIUMTHY Y HIH 3R dea 7 BT AT 17
G198 7 7 Y IR AYH H1-91 519 T,

e g e S0 J9T 9 9 &1 5491 o) 9,



T f3re®1-a1 @ Wy, e @ ge-a &,

T 38T U8 JYox T2 Fga 78 9 9&1 e 1 |
3R ¢ UT Ya¥ T T BT S50l SR,
FYI-IHT § a1 GHE igHT & forder g =am |
Td B AIPId I IR U el BT S,
AY-Ua-PIEd sat Ry Arer, i 8§ Ry,
YOI MYR 3 & et A7 a1at AWt & 94,

P T A AP Y Hid a1 g1 YT HrAA a¥ |

et ufver dra GHAR Ge 8T Fgor SRGET 3,
e 8 <l fasTel &1 Ba Foa S Tare 3 |
3(Tg, 98 Y ufdH & =0y § wie fiRa 81 a9z,
3eu ¥3-Hew P! W fawars dar 81 ofdum |
1 f, 19 St 1Y 47T BIS SR YU T8 8l id,
T Y SATATHE! 3Ad ATHd! It 7 i

iR T8 A JeRTA 19t Si Sraeifad T & U,

e ¥ AMAP-A GPUR WA B fay & 97 |
ST U= $ UgHh -12 U 7T UY T 30X I133:
T=- frweT Pgea HiF 81 38 WP

1. ST BT

2. A I

3. AARADT DI

4. UY [OIR BT

Correct Answer :-

6) “®H gH? Y - T R-a | Bt ufr e,
B T3 FIel &1 guamg yur 3t uR | eifie?

AYR fagyia 3R THid — Td BT Fagl i1 6,

TP HIUMTHY YR W 3R e 7 ST AT 17

1 9 7 A 7Y TOIR AYFE P1-91 o7d A,

e g a1 sua JuE yyH $a &1 <0 geaw 9,

T A @ wg, e @ ge-d @i,

T YT 98 Gex a2 $ed 36 71 9T e W |



3R ¢W I8 Har T I BT §5olTd TR,
$YH-IYT | a1 G i1 A Rrver g==amy |
TCd B IPTA I IGR U el HTAT S,
UY-Ua-wIfSd SO Rigy ara, R 8 SRy-ge,
YT YR 3 & e 9 a1at A6l & 9,

TP g A SYDT aY Bid I 8T YT HIAA aH |

et ufvem o GHUR G 38T Jga SIUFe 3,
e gt sl faerelt &1 ot Auas dta et 377 |
318, 98 Y Uf3H & onw §t= o9 iR g e=am,
IBUT - ITP! We fewrs qar g1 ofdum |

41 b, 19 S5+t Y 471 Bl B YYD TEH 8 Bid,
TS OY SAargd! 3rad ATudt o1 | sigid

iR 78 3 YeRTe 919 39 Sradifad I & UT,

e ¥4 IMaH- GHUAR WA $ fay &S ur |

ST TS P UgHR A UD T U PT IR qa133:
- Ui § Saffd dR-a3 & Bt 7fvr v frae! foam wen
1. ARBT A A ¥

2. RHT 4 W |

3. D AW

4. A% A ARIDT A

Correct Answer :-

o ARSI H A0S I

7) “®I g2 Wgfa - st TR ¥ et afor e,
P 3¢ S BT U= guT 3t 4R ifiue?

AR fagyia 3R THid — Td BT Fas T 36,

TS HHUMHYT G M 3R Tad 04 ST A |”

1 98 9 A Y YR AYF $1-91 96 W,

e g a1 waa IuE uyH $3 &1 <0 ger 9,

o fYresr-ar e wed, e e ge-a a1,

T YT 98 Yex a2 $ed 36 7 91 e M |

3R 3@ g Yo TG TG BT S5 R,
FYA-IUT | T G afeeT d forver a9=amT |



TS B TP ITET IR TS el HTAT S,
AY-vaH-HifSd sl Rig) A, G g WRy-Ag,
AYOT YR G & el 7 a1k AGi & 94,

TP 2 A DT aY Hid 91 g1 YT HrAA a¥ |

e afver dF YHAR G 6T g SIURge 34,
e gt sui faerelt &1 wor Aua St et 377 |
318, 98 Y Uf3H & e = o9 R g e=zam,
VT IfI-HSH P! A f@Ts a1 81 Sfdur |

1 %, 79 S1te 1Y 471 BIS $T YYD & 8 Pid,
TS OY SAargd! 3rad Aradt ol § sigid

iR 32 A YERTe 919 ST Jqefad & & U,

e ¥ MAP-A GPUR WA B Ay & 9T |

S UL P UgHhR 1 I T UY HT IR qa13d:
WH- Ui | affa &t & 99 P R & 82
1. BIC-BIC

2. BT

3. YERTA
4. Y3

Correct Answer :-

. R

8) “@I g2 Tgfd — A TR-av | Bt 7fvr v,
FR T2 FIol &1 guamg gut 3t uR | e

AR fayia SR THid — ST BT A §3T 6%,

TS SV G M 3R Tad 74 ST A |”
AT 98 A7 A 7Y YoIR AYH H1-91 9d A5,

e g rar saa JuE uyH $3 &1 S0 ger 9,
e FRew-ar am wed, Fea aft @A a1,

T T8T U8 YR WHd? Pgd 38 7 &1 B /i |

3R & 5 Yer TR T BT 5o SRR,
FYA-IUYT | a1 U afeT A forver a9=am |
TSU B 3P AT ISR Teb Tl HTAT S,
HY-Ua-BISa S Ry A, JI 8 WRY-wyge,



HYUT YR & & el 7 arak A6l & 94,

TP 2 A DT aY Hid 9 g1 YT HrAa a¥ |

et R T AR G I8 g HUa I,
e 8t <4t fatelt &1 a Saa= dta T 3 |
318, 98 G9! U3 & =0 diw o9 fRd g aa=am,
VT IfI-HET SAP! We fgw@rg ¢ar 81 sfaum |
a1 o, 719 T Y 471 BIS FR YUP I 7 P,
TS OY SAAargd! srad qradt wort § sigid

R 38 A JERT 19 3T Sqeiad I8 & U,

e ¥ MaP-A GHUR WA B faY & a7 |
ST UL Y UgHR T U T Uy HT IR qa13:
WH- U § HiF 1 T HET T 82

1. ST

2. 3T

3. HXUMHY

4, e aRy™

Correct Answer :-

9) “®IH TH? TYfd - FTAATY TR-AN & B! 7T TP,
$X TR Aol &1 guemy gy 3t 4R F il

TR fagia 3R THid - STd BT JAT g3 8,

TS HEUNHY G W 3R 99 T &7 1A |7
AT 98 9] A 9Y [oIR AYD B1-91 99 A<,

e g e Ha 9 Yy $ia &1 <491 YR 9,
TS e am vy, e aft ge-A o1,

T 38T U8 JYox a2 Fga 8 7 9o1 e 1 |

3R 3T UE Yer TG 74 BT F5oITd SRR,
FYA-IYT | a1 G afgeT A frver a9 |
TSU B AJPId IR IR TS ddll ST S,
AY-Uq-HISd O RIg) Ara, IR 8 TRY-Ige,
AYOT YR 3 & e 9 a1at A6l & °H,

P T8 4 IUDT aY Hid g 8T YT S aH |



e aReT §i YHHR Gl 36T Jga ILRga 3T,
e gt <4t fartell &1 a daa= dta T 3 |
318, 98 G9! U3 & 0 di9 od fiRd g1 g=am,
VT IfI-HET SAP! We fGw@rs gar 81 sfaum™ |

a1 5, 74§11 Y 71 BIS FR 4D TeT 81 P,
T Y SaTargat 3Rd ATudt Tort H rgid

iR 7@ A YIRTS 19 3 Sraafad 4a & T,

e o1 MaP-A GHUR U B fay & uy |

IUYed TEIie &1 Ugh ) YD T UY BT IR 9133
- B3 A TS & g9 Bt ga-n e 31 82
1. Ui H feR a1ge 9@

2. STl

3.3 A

4. MYR b AW Y

Correct Answer :-

. Um AR 9G¥

10) “@®I9 gH? TYFA - Ty AR-a & Bt aftr v,
FX TR el &1 gueme gyt 3t 4R | ifie?

AR fayia SR THid — ST BT JAS §3T 6%,

TS HEUNHY G WA 3R T9d T $T A |7
A1 98 99 7 9Y TOR GYHA H1-91 94 913,

e g e S0 J9H Y 9 &1 5491 YR 9,
TS Rremr-ar am wey, R ai ge-A o1,

T 38T U8 JYex Tia? Fgd 78 9 9o1 e 1 |
3R W U8 YeR TXY 9 BT 35oiTd IR,
FYHI-IHT § a1 GHE igHT | forder a==am |
€ad Bt SIPId T SIR TP Aell HrAT S,
nY-uyg-pifsd st Ry gre, G 8 TRY-TYe,
YT YR 3 & e 9 a1at A6l & 9,

< T8 U IUDT aY Hid g 8T YT S aH |

e aReT S YHAR G 8T Jga STege 4,
e 81 <l farrelt &1 Ba g o et a1 |



3118, 98 ! i3 & =01y §i9 o9 fard 31 a9z,
3FU1 IfA-Hsd SAH! Ve feaTs ar 8t sfaum |

a1 o, 19 TS0 Y 47T WIS R YUP T § P,
TS OY SAargd! srad qradt o1 § sigid

R R A YIRTQA a1l S Sraafad T & U,

e 71 MDA GHUR YA B fay & oy |

ITYe UL &1 Ugh ) YD T UY BT IR 9153
U=H- A YT BT YRT I UaTg foaet fue $R 38T 41
1. PSR &1

2. fagfid 1

3. ThId &I

4, A &1

Correct Answer :-

. oA @

11) “®I9 gH? TGfa - Fary R-a & et aftr v,
P 3¢ A5 BT guamg guT ot IR I sifiue?

R fayid MR UHid — STd BT AT §3HT I8,

TP HIUMTHY Y HIH 3R dea 7 BT AT 17
A1 I8 7Y = 7Y YO AYSE P81 1 WS,

e g e S0 J9T Y9 $ia &1 5491 Ya) I,
T fRrew-ar @ ey, e @ ge-d o,

T Y87 UE YR Wa? PIgd 3¢ 7 P71 b /i |
3R W U8 YR TXU 7 BT F5olTd IR,
FIA-3YT B aar TuH afeT A River a9y |
Td P IIPIA 1T AR TS el BT S,
TY-Ua-IfSd O Rigy ara, R 8 SRy-3ge,
YT YR 3 & e 9 a1at A9l & 9,

TP g A SYDT aY Hid g9 8T YT HIAA aH |

et aRver §ia GHaR G 6T g SUge 4,
& 8 vt fasTell @1 Bar Faa- S ard 3 |
3(Tg, 98 Y uf3H & =0y § wie fiRa &) ==,
3eU1 II-Hew P! W fewars dar 8t ofdum |



a1 o, 79§51 Y 471 BIg HR YUS 51 §1 P,

TS OY SAargd! 3rad qradt o1 § sigid

R 38 A JERTa 19 3T Sqeiiad §& & U,

e ¥ AMAP-A GPUR WA B fay & 97 |

ST ULIIRI $ UgHR A12 U 7T UY BT 30X Id133:

- T T A TR SR I F AN S A A r v
1. 3=

2. 140

3. @MY

4, MYR

Correct Answer :-

. YR

12) “®H gH? Tgfa - Faffy d-aen @ Bat aftre,
P 3¢ S BT guaEmg guT 3t UR 3 ifiue?
TR fagia 3R Ui - STd ST YA g3 [,
TP HIUMTHY YR W 3R e 7 BT AT 17
A1 I8 A = 7Y YO AYHE P11 51 W,
T g rar sua JuH yyH $3 &1 <0 ger 9,
TS f¥re®1-a1 @ wey, FevA @ ge-d o,

T Y81 98 Gox Wid? $ed 36 71 &1 e I |
3R ¢ U Yo TXY TG BT geeiTer TR,
FHH-IYT | TdT G df-gbT I forder a==am |
TQU B1 ATPIA T SIR TP Well HTAT S,
UY-Ua-IfSd O RIgy Ara, R 8 TRY-3ge,
TRIUT YR &/ & e 9 a1t Al & 94,

TP 2 A AP aY Hid 91 g1 YT HrAA a¥ |

<fier ufeer S YPAR G QT G SHUaT 3,
e gt <4t faerelt &1 o Sraas dta ardt @ |
3TE, I8 g U3 & oH diw oe fiRd 8 o=,
3PV - Hew 3P Ne faars dar &) ofaemy |
g7 f, 9 S5 oY 47T WIS B YYD T&1 gl Pid,
TS OY SAargd! e Aradt ot § sigid



R 37 A JORTa 919 3i Srddifad 4@ & U,

e ¥ MAP-A GPUR WA B Ay & 9T |

ST T P UgHR A UD T U PT IR qa133:
- U Tei=r § <feTell &1 Eer | o aredd 32
1. I W IGRA

2. ARG

3. AGY I SMTHT

4, A8 BT Y@

Correct Answer :-

o TBI DI 3THT

13) “® gH? Tgfa - Safafy d-aen @ Bat afdrs,
B I3 FIel &1 guamg gyt 3t aR 3 e
neR fagia 3R THid - STd ST AT g3 /W,
TS SO G M 3R Tad 7 ST A |7
A1 I8 A = 7Y YO AYHE P18 G W,
e g rar waa JuE uyH $3 &1 <0 R 9,
o fYresr-ar o wed, e a ge-a a1,

T YT 98 Gox a2 $ed 36 7 971 e M |
3R 3 UE YR TG AU BT F5olTdl SRR,
FYU-a3UT H a1 TU P A forger a-=am |
TSU B 3P ITeT ISR Teh Tl HTAT S,
AY-Ua-HIfSd O RIg) Are, R 8 TRY-3ge,
HYOT YR G & el 7 a1k AGi & 94,

TP B A AP aY Hid 91 g1 YT HrAa a¥ |

=it afer St GPHR G e Jga SrergaT 31,
e gt < faerelt 1 oo Aaa= S Tardt 37
318, 98 G9! U3 & =0 di9 o9 fRRd g1 aa=am,
VT IfI-HEd SAP! We e gar 81 sfaum |
1 o, 19 T Y 47T WIS FR YUP I E P,
TS OY SAargd! e Arudt worl § sigid

R 38 A JERT 919 3T Sqeiiad §F & U,

e ¥ MaP-F GHUR WA B fay & uT |



SUYF U D1 UGHT A1 I T YY BT IR Ta1g4:

UL P M T § T8 Yax M A TR 9 fry e &) wove fovan mam &2
1. ARG

2. HYR Aot

3. JR 9

4. gexdl

Correct Answer :-

14) “®I gH? GGFA - Ty AR-a0 & Bt afr v,
FR T2 Fol &1 guamg gyt 3t aR J e

TR fayia iR THid - ST BT AT g1 6%,

TP HHUMHY G M 3R Tad 7 &7 A |7
1 98 9+ Y YR AYH $1-91 96 W,

T g a1 waa Gu vyw S &1 w1 YR 9,
o fYresr-ar o wed, e a ge-a a1,

T ¥8T U8 YR WHd? Pgd 3¢ 7 &1 B /i |

3R W UE YR TG AU BT 5olTdl SRR,
FYA-IUYT | a1 G afeT A forver a9=am |
¥d B1 SIPId 9T SAR TP Al BT S,
nY-yg-pifsd st Ry e, G 8 TRY-IYge,
HYOT YR G & el A7 a1a) ASi & 74,

% T8 U IUDT aY Hid 99 &1 YT S a4 |

et ufRuT i YHHR Gel I6T Hgo SILgelT 3T,
e gt <t fartelt &1 a daae g T 3 |
318, 98 Q! Uf3H & iy dta 94 fivd ) a9,
3PV - HEd SAP! Ne famrs dar &) ofaemy |

a1 o, 7a gsiTd 9 471 BIg B YUD I 61 Pid,
TP OY SAargd! e Arudt woret § srgid

iR 7@ A YIRTS 19 31 Sraafad 4 & T,

e ¥ MDA GPUR WA B fay & I |

ST U= $ UgHR A7 U 7T UY BT ST Ia134:
- “HY-Uaq--sp1{Sd Sl Rig e # S19-91 reieR 82



1. QlU®
2. IUAT

3. 3TN
4. ¥UH

Correct Answer :-

15) “®I9 gH? GGFd - Ty dR-a & ot afr v,
FR I3 FIol &1 guamg gyt 3t uR J e

TR fagyia 3R THid — Td BT G T 6,

TS HHUHYG G M 3R Tad 74 ST A |7
G198 0 A 7Y ToIR AYHI S1-91 99 I3,

e g rar saa JuE uyH $3 &1 <0 ger 9,
o fresr-ar o wgd, e a ge-a a1,

T Y1 98 Yex a2 $ed 36 7 91 e M |

3R 3 U7 Ya= T T BT 5011l AR,
FYU-a3UT H 1 U dfHT A forger a-=amy |
TG 1 IIPId 9T IR TP dall ST I,
TY-ya--pifEa SO Rigy e, g 8 SRy-ugad,
AYOT YR 3 & el 9 a1at A9 & °H,

TP 32 A DT aY Hid 9 g1 YT HrAA a¥ |

et aiver e GHaR e 6T Jgo SILGa 4,
e 8t <4t fatelt &1 a daa= dta T 3 |
378, 98 G9! U3 & =0 di9 o9 fRd g a9=am,
VT IfI-HEd SAP! We e gar 81 sfaum |

a1 o, =19 T Y 47T WIS IR YUP I E P,
U OY SAAargd! e Aradt ot § sigid

R ¥ A YORTd 19 3 Sradifad 9 & U9,

e o1 MaP-A GHUR WA B faY & Iy |

ST UL Y UgHR 1 U T UY HT IR qa133:
WRA- “SITd BT G §3HT Ie3” Ul H HI1H-9T @R 82
1. 3Magfd

2. 3UHT



3. favremymg
4. HTGHTHT

Correct Answer :-

o faRremyrg

16) I3 ol g9k 99 gU, Tt &t &Y A1 &1 T A TuTe A1 I/ 31U el | T Sroie ARTont <t fb
3T Uga 1 8, 3R SN T faramel ug =8t Wehd, 3 3= YId Y 82 SUP! Ay A8Y o1 f 3ra @ < gy
ot 718 €, 3 e 3faera 3t g a1 SxF=IRd 3t a1 bR sU-wfal o, 3 IUST 3R IUS Ydell B &
TURTH {51 T 8 | 19 o U9 aa® ot 81 forgia wgTe & fR1-var weq ot fiewa ot g S amim
P AT o UotT B e 3R 3 91a A 1 Haera? I a) TR 6 $9-5° HR Ag-d 3, YUY o1 i
SATTSAT BT ITAT Bl T 3R B GHredl ¥g | ife o 79 U7 § a1t 35 Tobell 71 v am um I+ Sme=
T i a9 a5 S & 98| 3 foA qrad Uit 1) o o_fY ot gielt €1 a9 s @ A T, awdt &
THSI R 3M&R e ¥5d A1 A g Rad N1 3% fFours: a1 ot af emar= 18t AT wue & el A ISy
BT IW-TUT B ART | TR-TR 3R M9-71Td THAB o) GFad g1y aifl, 3qa! gielt STar | gg ara aa s 8
Wq 919 B AR &1 FHaior 81 8T 311 3% 9 gad o {6 9398 aael & T H ff, uRRi 3t 7 far o
A & TS| 3R fHlt fag A st qeadh ¢ | 3+hR o i 39 faral aiga a8t Slar & qwAr faar wmi
THT YT UG aTal UR ST BT h1e! IS Dt G & 9I¢ abel & $al A 59 Y&ad| ol {Hprar 11, o d ag=
arife HargRr @t v R o gfFar wR & @b et ot ued §

IUY e T B UGH A9 YD T U BT SO gaT5d:
UeH- fop1 & A fpard &1 @ @R fpar

1. fagrmi =

2. &=l A

ACRIRUIE

4, ST A

Correct Answer :-
. fagmia

17) ®YS 3 goR a9 gT, It &ivT ot 719 b1 T = FHTe U1 I U 7S | Th 3t ARSRN A b @
AT Ugd F1 8, 3R N & faraTd ug =18t I d, 3 3 GId I 82 SUP! Ay =81 o1 fF 3ra ao off yeads
fereft 718 €, 3 9e 3foeT Y €Y an iR @Y a1 fbR Sut-wer=al B, 390 IS 3R ISP gdell &1 &
TORTH {501 741 8 | 319 9 T a1 8 gl Twme &) R1-ven ogq @) Ruma it gh draimd o
P AT o UoiT Y e 3R 3 a1al A 1 Haea? I ) TR 6 $9-5° HR Ag-d S, YUY o1 i
SATTSHT BT T Bl T 3R B GHhreil ¥a | Wif o 79 U7 § a+it 3 Tobell 8 1 v Fam um I+ Sme=
faar i T s 7 S & 9| 3 fo qrad Ut ) o S_fY ot g1elt €1 a9 s @ A 8, awdt &
THSI W &R e 8d A1 A T Rad &f 1 37 fsures = oft af smar= =12 o1 wute & snefir = Isg
BT IU-TUT B ART | TR-TR 3R Ma-71d TABR o GFad g1Y @Y, S gielt Tar i gg araag si g
9 99 Dt GIaR &1 Fafor g1 ¥87 411 % 9Nt X ol fh 93-98 agel & w0 # oY, TRl 3t g flar
A N TE 1 3R 2t fagm A st s 3 | 37 v i 39 faral aita a3t Slar & qwar fear mam
THT YT UG aTal UR TSI BT Sh1e! IS Dt Jog & 9I¢ Ab sl & Pal A 51 J&IDI ®I fAdp1an 11, o s qg=
SRIE HTRREN B a8 ff, 58 gfrar wR & @ ot +ft ugd &

S TR B Ugh? -9 U T Uy BT 3TR ga133:
- 39 0T APl & ¢h sl IR Geald? Jxad ol ferel wrdt o



1. I8 1 IUTT UT|
2. 39 GHY dp BT et T
3. 39 GHY R forgqT1 Fat oFd A1

4. 39 GHY P IR g UT|

Correct Answer :-

. 39 GHY T BIURAH gl U

18) P13 3 goIR a9 §Y, W &7 It 17 BT T i qyTe U1 I/ Ut ver A U arofta ARTST ot b @i
AT Ugd I 8, 3R St @NT fhard ug 81 ad, 3 3% Gid i 82 STD! Ay 1Y o1 f 3rd o ot ey
fereft 718 €, 3 a8 3foeT @Y €Y a1 gxiA=IT @Y a1 fhR Sur-weT=al 3, 390 IS 3R ISP ydll &1 &
TORTH {51 741 8 | 319 9 3 a1 8 Rl Twre &) R1-ven ogq @) Ruma Ftgh draim d o
P AT o UolT Y e 3R 3 F1al V 1 Haea? I dl T 6 $H-5H HR Ag-d $v, YUY o1 Bt
SATTSHT BT T Bl ST 3R B GHrel Ta | Wifer o 79 U7 & 5+1t 35 Tabelt 8 1 b= Fam um I+ e
faar i T s A7 H & 98| 3 f grad Ut ) o oRft ot g1t €1 a9 suE | A 8, awdt &
THSI IR &R Ge ¥ed ¥1 A g [Rad | 38 fFure: a1 it af mar= A8t o1 JuTe & el A Iy
BT IU-TUT B ART | TR-TR 3R Ma-71d TABR o P g1Y @Y, ST gieft Tar i gg araag si ¢
W9 99 Bt GIaR &1 fafor gt 387 311 % ORt XA ol fr 93-98 agel & ¥ d off, uoRi 3t o flar o
T & M1 R et fag A et gead 37 A 3R fban i 34 fparal afed st Slar & gw= fear man
THT 4T Ug- Tl UR TSI BT Hie! IS D1 g & q1G bt b Pl H 57 J&ad| i (~abrar 11, o wg=
IRifFe FTRRI $t 39 ff, o8 g W= & @b et oft ued B

ST TR B UghR 9 YD T UY BT IR Ia13:
WRH- TRl & SR IS WY & ot BT 1 I SURHR SMTar 82

LR
2. YHRefH

3. g@gdl
4. SR fAHfan

Correct Answer :-

19) B &l §9R 99 T, W @it ff 719 b1 Tep A=t To1e 411 I/ 3TN vl | Tep Srofte AR R b @i
AT Ugd I 8, 3R St @R fhara ug 8 awd, 3 3% Gid 1 82 Sad! Ay 1Y o1 fp ora o ot geads
et 18 €, 3 =8 sfoeT @Y €1 a1 iR @Y a1 fhR Sut-weT=al B, 390 IS 3R IHS ydsil &1 &
TURTH {351 74T 8 | 319 9 09 aa e ot g1 forgiv TuTe & QR1-Uar wgq ot g ot g Ft it o1
P YT fob UoTT Y e 3R 3 I1dl A 1 Adaa? I 1 AT & $I-$7 B Ag-d $9, JUaTY IS i
STTSHT BT T Bl ST 3R B GHbrell Ta | Wifar o 79 U/ & 5+it 3 Tabvell 81 fibr am um I+ 3=
faar i g s Ay H & 9| 3 fe grad Ut ) off oRfY ot B1eht €1 a9 s A A T8, awdt &
THSI I &R Ge I5d A1 A 81 Gad AF 1 3% fsures @@= ot af smare =18 o1 9ute & snefa = I
BT IU-TUT B ART | TR-TR 3R Ma-71Td TABR o) TP g1 @), Sq@] gieft Tar i gg araag si 8
q 919 B SR &1 faior g1 38T 311 86X 9 g il {5 93-98 el & T H ff, tRRi 3t T AR
T | IR et fagr 7 3rueit Toadh 39 @ 3R fbar ot 3 fparel afitd 9t Sfar d g faar man)
THT YT UG qTal UR ST BT Sh1e! IS Dt Gog & 9I¢ Ab el & ol A 549 YD ®I (A1t 11, o d 7=
IRifFe FTRgRr $t 39 ff, 5 g W= & @b et oft uea B



SUYFT TR B UgDHR -1 IO T YY BT IR Id133:
- fore a1 oR rer 31 fayra =18 une

1. JGDT AT 39 W 5 5 |

2. ISP AT I U B 5|

3. AN QIS Ugd g |

4. G| § I gdell & UNTH fhar T 5|

Correct Answer :-

. JXI! 8 3% gaell & ONTH fhar T 5|

20) HY$ A1 g9 a9 gT, H & ft 0 &1 v A qure U1l I/ Sru vl A U@ it ARTontt ot i wi
ST Ugd F1 §, 3R il @ fpare ug 181 wavd, 9 I8 Gid i 52 SHSD! Ay 781 A1 i ora & St qeass
ot 18 €, 3 a8 sfoeT Y €1 a1 iR @Y a1 fhR Sur-wer=al B, 390 IS 3R ISP ydsil &1 &
TORTH {51 741 8 | 19 9 3 a1 8 Rl Tre &) R1-ven $eq @) Ruma Ftgh daim dt o
FHET AT {6 UoTT B U 3R 31 91dl A 1 Hada? I a1 IR 6 $I-F° HR Ag-d S, YUY o1 i
STTSHT BT T Bl 1Y 3R B GHrel Te | Wifer o 79 U/ & 5+1t 35 Tabell 81 v Fam um Iu= Sme=
faar i T s Ay S & e | 3 fe grad Ut ) o okfY ot g1t €1 a9 suw A A T8, awdt &
THSI W &R e 75d A1 A 8 aad A1 37 fsures @@= oft af smare =18 o1 9wte & snefia = s
BT IU-TUT B ART | TR-TR 3R Ma-71d TABR o P g1Y @Y, ST gieft Tar i gg araag si g
Tq 9 Bt GIaR &1 Fafor gt ¥87 311 % ORt s ol fr 93-98 @gel & w0 § off, uoRi 3t ovg flar o
T & | 3R et fagr 7 3rueit geadh 39 @ 3R fhan ot 3 fparel afitd 9t Sfar d g faar man)
THT 4T Ug- aTal UR XTSI BT Hie IS D1 G P qIG bt b Pl H 59 Y&ad| i (~rabrar 11, o wge=
IRifFe FTRRr $t 39 ff, 5 g W= & @b et oft ued B

IUYe TRIIR Y USH 19 IR 7Y UY BT IR 9d133:

U=H- ITelT 9t @i ft & IR W1 &t Jifd 991¢ 3@ & fore &ar &=+ ariye?
1. fode gt =gl

2. 30t foraTel & 1 @nfRu

3. BEAd HRP B WRAT AR

4. §g B3 AM8T|

Correct Answer :-

« Ugd P B U1 AT

21) BIS 3 TR T g, W & ot 719 67 T 1 TTE 471 IX (U 7o | T 3reita ARTSR A b @
3T Ugd Tl §, 3R i @1 fhaTd ug 1Y Oea, 3 3= JAd T 82 IS fayra 7Y 1 for 3 9 ot sy
et g 7, 3 =me sfaera 9t 8 a1 gxi=d 3t a1 bR sur-weifaal #, 370 ST 3R 39S ydeil 1 &
TURTH {351 741 8 | 319 9 09 aa ot g1 forgiv TTe &1 QR1-Uar wgd ot fgwa o1 g Ft it o1
P YT fob UoTT Y e 3R 3 a1al A a1 Haaa? I 1 AT & $I-$7 B Ag-Td 9, JUaTy IS i
STTSHT BT ITeT Bl ST 3R B gbreil Te | Wifer o a9 U/ & a+it 35 Tavell 8 1 fibw am um I+ Sme
faar i e s Ay S & 9| 3 fe grad Ut ) o SRfY ot g1elt €1 9 S A A T8, awdt &
THSI IR &R Ge ¥5d ¥ A g [Rad N1 38 ours: a1 i af Smar= A8t AT ue & el A Iy
BT IU-TUT B ART | TR-TR 3R Ma-71Td TAB o) @ g1 afl, Sqd! gieft Tar i gg araag s1 8
9 919 B AR &1 o7 g1 87 311 X 9 g il {5 93-99 el & T H ff, toRi 3t 7 AR o



T A 131 3R et fagr A orueit gadh 3 A 3R far aY 39 fraral wfta 9t Slar o qwn faar wan
U YT Ug- aTdl UR ST BT H1e! ST BT oI & 91G AP b Pl A 57 [Rad| bl {1 141, oqd age
TRIfE FTHEREN Bt w9 f, g gfrar W & ah ot oft ugd &

IUYe TRIRI HY USH 19 D 7T Uy HT IR Id133:
WH- TSI 3 AT <t 3ot et | il ARTST Y12
1. A 98 g T ER 7T AT

2. i TN I ST 781 A 6 U

3. i ANT fbdTd Ugd U

4. Fifb IBIA B G1 g B f&ar |

Correct Answer :-

. Fifcs T fobairel Ugd U

22) ®I3 &l g a9 gu, W qivt &} A1 &7 v A wHTe 3Tl 3 Ul uST ¥ U Srefte ARTortt <t fb i
39T Ugd F1 8, 3R Y T farame ug =18t Wepd, 3 3= YId Y 82 SuP! Ay =8 o1 fF 3ra aop < qeass
foreht € €, 3 =8 sfaera F1 8 a1 SxFIRd F a1 bR Fur-weifal @, 370 IUET 3R IWS Ydeil B &l
TORTH {51 74T B | 1 9 U9 aa e ot g1 forgia wTe & fR1-var weq ot e ot g it
P AT b UoT1 B U 3R 31 a1al A 1 Haera? I ) TR 6 $9-5° HR Ag-d S, YUY e Bt
ST BT UTAT Bl ST SR B gobrelt 33 | Jifa ot 77 VA § 7+t 35 Aobelt 31 Fh= am oM I 3mewn
faar i a9 g 5 S & 98| 3 feA qrad Uit A8 o o_fY onret g1elt €1 a9 SuE™ at A E, awdt &
THSI R 3M&R Ge ¥5d A1 A g Rad N1 3% fours: = ot af mar= 18t ot wue & Snef A sy
P IW-TUT B ART | TR-TR 3R Ma-71Td FTHABR S GFad g1Y afl, 3qa! gieft Tar | gg araag s 8
q 919 B AR &1 FHaior 81 8T 311 3% 9 gads ol {6 9398 el & T H ff, ueRi 3t 7 AR o
T & | R et fagm 7 vt s 37 A 3R fhar af 3 fparel itd 9t Star & g faar )
THT YT UG aTal UR TSI BT h1e! IS Dt G & 9I¢ abel & ol A 59 Y&ad| ®I {HAPp1ar 11, o d ag=
i FargRr @t v R o gfFar wR & @b et ot ued 8

IUE TRIIRT B UGHR -1 U T U HT IR Ia133:
U=- ITSIT G & <t BT T BT A1?

1. ST &) UgH ¥ &1 A |
2. STA1 D1 & g1 AT
3. ST 1 HgTd B! Mgl
4, ST 1 HR &1 A1

Correct Answer :-

« SFdT &I U ¥ T HdAq |

23) PIS gl gOIR q¥ g, Il T Y ATH BT TP F- FHTe oUT1 I (U= U1 & TP Srefid ARTer R 36 @
AT Ugd F1 8, 3R N & faraTd ug =18t 9 d, 3 3% I1d Il 82 SuP! Ay =81 o1 fF orq ao o yeads
foreft 715 €, 3 a8 3foe Y €1 a1 iR @Y a1 fbR Sut-wer=al B, 390 IS 3R ISP Ydull &1 &
TORTH {51 T 8 | 19 o U9 aa® ot g1 forsia wgTe & fR1-var weq ot fewa ot g i <t
P AT o UoTT B U 3R 31 91al A 1 Haera? I ) TR 6 $9-59 HR Ag-d 3, YUY I i
SATTSHT BT T Bl 1Y 3R B GHhrel ¥a | ife of a9 U7 § a+it 3 Tobell 8 1 v Fam um I+ Sme=
faar i Ta s 5 S & 9| 3 foA qrad Ut ) o o_fY ot gelt €1 a9 suET @ A T, awdt &



THSI WX 3R G ¥ad A1 A 81 TRas 41 I8 e~ 3@=1 W af S =181 471 91e & Siefadi = Iy
BT IU-THT B ART | TR-TR 3R Ma-71d TABR o P g1Y Y, ST gieft Tar i gg araag si ¢
g 99 3t IR &1 fafor gt 387 311 2% Rt s o fr 93-98 @gel & = A off, uoRi 3t g flar o
T & | IR et fagr A erueit geadh 39 @ 3R fhar ot 3 fparel afitd 9t Sfar d g faar man)
THT 4T Ug- aTal UR XTSI BT Hie! IS D1 Y P qIG abat b Pl H 59 J&ad| i (~abrar 11, o wge=
IRifFe FTRRr $t 39 ff, 58 g W= & @b et oft ued B

IUYe TRIIRN Y USHR 19 IR 7Y UY BT IR Id133:

- 7SI 31 & ot fram adf qd i1 R s wwar A
1. d

2. BIIR

3. A BWIR

SRR

Correct Answer :-

. GIBIR

24) I3 & IR a9 gE, W it & A9 &7 UH A FHTe U1l 3 AUl UST A T Sreftd ARTontt ot fb @
AT Ugd I 8, 3R St @ fhara ug 8 ad, 3 3% G 1 32 Suw! fayry 1Y o1 f 9@ a9 ot g
foreht 7€ §, 2 e 3faera ot 8 a1 SxiFRd 3t a1 bR ur-weifaal @, 390 IUET 3R IWS Ydeil B &
TORTH {351 741 8 | 1 o 09 a ot 81 forgiv TTe & QR1-var eq ot fewa ot g Ht it 1
P YT fob UoTT Y A 3R 3 I1al A 1 Aaaa? I dl AT F $I-$7 B Ag-Td S, JUATy IS i
TS BT UTAT Bl SITE SR B goprelt 33 | il ot 77 VA F a1t 35 Aobelt 31 Fhv am oM I e
e for wa qead 1y & & 91t | 34 e geads et A8 <t SRt onet g1t €1 99 ITue |t & Y, aw st b
THSI R &R Ge ¥5d A1 A g Rad |1 38 fours: a1 ot af Smar= A8t AT JuTe & el A ISy
P IW-TUT B ART | TR-TR 3R Ma-71Td TABR o) GFad g1 aifl, Sqal gieft Tl gg aaag s 8
W9 99 $t IR &1 Fafor g 387 311 3% OR [ad o fF 93-93 wgel & T u A ff, uRR) 3t ovg flar o
T & S| R Pt fagm A v s 37 A 3R fhar af 3 fparel aitd 9t Star d g faar )
THT YT UG aTdl UR TSI BT Shie! IS Dt Gog & 9I¢ abel & ol A 59 Y&ad| oI (o1 11, oFd qg=
i HargRe ot vt R, o g ar R & @b et ot ued B

IUYe TRIR HY UGH 19 IR T Uy HT IR 9d133:

U=H- el 9t @i ft & 999 949 § f5g yor | [Rae ford! | 42
1. TR

2. TRl R

3. ddhal W 3HER Jadldhr

4. |G 4

Correct Answer :-

. TAdhel IR 3HER Gadihx

25) P13 &l goIR I¥ g, Il & o} AT P71 TP - TgTe oT1 I/ (U UST N TH Srefa ARTerh ff 7 @
39T Ugd F1 8, 3R Y T farae ug =18t Wepd, 3 3= YId Il &2 SuP! Ay AgY o1 fp 3ra ao < qrass
foreht € €, 3 =8 sfaerd 3t 8 a1 SxiFIRd F a1 bR Fur-weifal @, 37 IUET 3R IUS Ydeil B &l
TORTH {51 7T 8 | 1 o 09 a e ot g1 forgia TTe & fR1-var weq ot it ot g S i



AT YT fos ISt &1 ueH iR 3 91dl | T Aaar«? 34 dl A1 fo6 FH-HH B Ag=Td B, JUATY TSI BI
SATTSHT BT T Bl T 3R B GHhrel Ta | Wife o 79 U7 § a+it 3 Tobell 8 1 v am um I+ Sme=
faar i T a7 S & e | 3 f qrad Ut ) ff SfY ot g1t €1 a9 suE @ A 8, awdt &
THSI W &R e 75d A1 A 8 ad A1 37 fsures T@=r ot af smar= =18 o1 9ote & smefia = I
BT IU-TUT B ART | TR-TR 3R Ma-71d TAB o GFad g1Y @Y, ST gielt Tar i gg araaa si g
W9 99 Bt GIaR &1 Fafor gt 387 311 % 9Nt s ol fh 93-98 agel & U # oY, uoRi 3t ovg flar
T & 1 R et fag A ot goad 37 A 3R fban <t 34 fpamal afed <t Slar & gw= fear
THT YT UG qTal UR TSI BT Shie! IS Dt Gog & 9I¢ Absl & Pal A 51 YD1 &I fHPp1ar T, o d qg=
IRifFe FTRRI $t 39 ff, g g W= & @b et oft ued B

ST T B Ugh? -9 YD T Uy BT ITR ga133:
- et A i ot for wR wifera ure

1. 1 forrrT Tl

2. SN fordTd ggar Uil

3. Sl X g1 ol T

4. Sl Ryurgt T

Correct Answer :-

o Sl fordTs Tgar ATl

26) B o1 g9 a9 g, H i ft 7 &1 U NN qure U1l IV ru v A e it Aot ot i @i
a1 Ugd Tl §, 3R i @1 fpard ug 1Y Oea, 3 3= JAd T 82 3P fayr 7Y 1 fo 3 9 ot sy
ot 18 €, 3 =8 sfoe @Y € a1 iR @Y a1 fhR Sur-weT=al B, 390 ST®T 3R ISP ydsll &1 &
TURTH {351 741 8 | 31 9 09 aa® ot g1 forgiv TuTe & QR1-Uar gd ot fgwa o1 g Ft it o1
P YT b UoTT Y e 3R 3 I1dl A 1 Aaaa? I 1 AT & $I-$7 B Ag-d $9, JUaTy IS i
STTSHT BT UTeT Bl ST 3R B il Ta | Wifer o a9 U/ & a+it 35 Tavelt 8 1 fibv 7w um I+ Sme
faar i e s Ay H & i | 3 fe grad Ut 1) o SRfY onret g1elt €1 a9 S @ A T8, awdt &
THSI W &R e 75d 1 A 8 ad AF 1 37 fsure T@=r ot af smare =18 o1 wute & snefr = I
P IW-TW BT ART| TR-TR 3R G- gHHR 5 Y&IP 814 Y, 39! el sar € g S da i g
9 91 B AR &1 faior g1 38T 311 X 9 gads il {5 93-99 el & T H ff, uRRi 3t 7 AR d
T 1 E | IR el fagr 3 oroeit gead &1 9 s+ b i 39 fharal afga 9t Slar o gw=n fear wm
THT YT UG aTal UR ST BT Sh1e! IS Dt Gog & 9I¢ Ab el & ol A 59 YD1 &I {HPp1ar T, o d 7=
i HargRe ot e R, o g ar wR & @b enrer ot ued B

IUYe TRIR Y TSP 19 IR 7T Uy BT IR Id133:

T=H- g9 TToTT &) qads 3 | 91 fovan, 37ab |1 31T A T aeR far?
1. 38 Pe B I faam|

2. 3 St f&a|

3. 3% o% ¥ Farat faam)

4. I Qo] Hied dlar # g faam

Correct Answer :-

. 37 QX! Hied diar | g faa



CAERA| mﬁgq@ﬁm%ﬁmm@ﬁm%mﬁ&mﬁwﬁweﬁﬁawﬂ?ﬂ%mm
Ted T4l €, 3R St @7 fhard ug 81 9@ d, 3 3= Gd T4l &2 I Ay 781 T % ora 9% oY A foredt
TE ¥ 3 TR ST 1 € a1 SRR 95 a1 R HuUT-mRIral 3, 3H ST iR IuF ydil BT & AT
forar T 31 P9 oM TR a8 RielR JuTe Y qRI-Ye Fea B Rma steh e s s A
% 7o o1 UgH iR 3 I141 | T UAAE? 39 A AT % FH-FH X Ag-Td B, YUY ST Dt TS BT
T HRel ST 3R HR gepTet T | Jifa df 99 A/ & 71t ¥8 et 81 b= um 39+ sirewn fean fr |
YIS Y B &t 91¢ | 3 o qead Tt 7Y i ft ot @)t 1 99 S1um™ 9t A 98, ap St F gHSI R
&R Fe 5d 41 T g g ff | I fsures v@=r Wt at S w18Y 311 9 & Sefil A e ST gwl-
TUT B ART| TR-TR 3R Ta-71Ta TSR S YRad g1y aifl, 3! gielt 5ar &t | 9 91 a9 1 g 79 9
aﬁﬁawmﬁnfwa‘rwmd?wmwﬁ%a%a%masmﬁ?ﬁMﬁwmﬂﬁgﬁﬁ
TS| 3R faredt fagm A it qeads ¢ & 7R o <t 39 fraral afga 931 Star & gw=n faar man T
AT Ug- aTal R ITST HT HIY! IS Bt Y & 91G abe! & Bal A 5 YD1 B (=T 11, 4 ugm
e FTRRr $t 39 ff, o8 g W & @b ot oft ued B

ST TR B Ugeh? 19 YD T UY BT IR 9a13d:
- St &l fhard ug 81 T 9, 3 T Hvd A2
1. &b STefl f&am b o |

2. 91 Ugd ¥, 3% G 1

3. TSl D1 FRI-Ydl Hgd |

4. 1571 o FHUTE &7t |

Correct Answer :-

. TR Y IR

28) BIS 3 gIR a9 g, W & ot A1 &1 TS <1 WHTe 471 I/ (U 7on | T 3roftq ARTSR A o @
3T Ugd T4l §, 3R i @1 fpard ug Y Oed, 3 3= JAd T 82 IS fayr 7Y U1 fop 3 9 ot s
foreht 7€ §, 2 e sfaera 9t 8 a1 SxiFRd 3t a1 bR sur-weifaal @, 370 IUET 3R IUS ydeil BT &
TORTH {51 74T B | 1 o U9 aa e ot g1 forgiv TuTe &1 QR1-Uar eq ot fewa o1 g Ft it o1
P YT fob UotT Y e 3R 37 a1dl A 1 Haaa? I 1 AT & $I-$7 B Ag-d $9, JUaTy IS i
STRTSHT BT ITeT Bl ST 3R B gbrehl ¥a | Wifer o a9 ¥/ § a+it 35 Tovell 8 1 fibw am um I+ e
e for wa qad 19 &2 & 91t | 34 A geads et A8t <t Skt onet gielt €1 99 BTue | & Y, awst &
THSI IR &R Ge ¥5d A1 A g Rad N1 3% Foure: a1 i af Smar= A8t AT JuTe & el A Iy
P AW-TWT BT ART| TR-TR 3R 97T PR 5 Y&IP 814 oY, 39! el sar € gg S da i g
9 91 B AR &1 faior g1 87 311 X 9 gads il {5 93-99 dael & T H ff, uRRi 3t 7 far o
T & S| R et fagm 7 v s 37 A 3R fBan df 39 fparel aftd 9t Star d g faar )
U YT Ug- aTdl UR ST BT H1e! ST Bl oI & 91G APt b Pl A 57 [xad| bl {1 141, oqd agm
i TargRe ot vt R, o g ar R & @b et ot ued B

IUYe TRIRI HY UgH 19 IR T Uy HT IR Id138:
UH- “SARIRRRT B 412

1. 9%

2. il

3. XSl

4. R

Correct Answer :-



29) ®I3 & IR a¥ gu, W givt &Y A1H &7 v A waTe U1l 3/ Ul uST ¥ U Sreite ARTort <t fb i
3T Ugd I &, 3R SNt &N e ug 98 Tod, 3 3= Jd 1 82 STP! Ay e o1 f e & ol g
foreht € €, 3 =g sfaera 9t 8 a1 SxiFIRd Ft a1 bR Sur-weifaal @, 370 IUET 3R IUS Ydeil B8l
TORTH {51 741 B | 1 9 U9 aa e ot g1 forgia wTe & fR1-var weq ot e ot g it
P YT foh UoTT Y U 3R 39 I1dl A 1 Adaa? I dl AT & $I-$7 B3 Ag-d S, JUATY IS i
TS BT UTAT Bl ST SR B gopTelt 33 | Jifal ot 7 VA F a1t ¥ Aobelt 31 Fhv am oM I 3mexn
far i a9 g 5 S & 98| 3 feA qrad Uit 18T i oft onret g1elt €1 a9 S at A T, awdt &
THSI R &R Ge ¥5d A1 A g Rad N1 3% fFours: a1 ot af Smar= A8t AT Jue & el A ISy
BT IW-TUT B ART | TR-TR 3R Ma-71Td THAB &) @ g1Y @), Sqal gieft Tar i gg araag s 8
g 99 $t IR &1 fFmfor g 387 311 % GR [ad ol fF 93-93 agel & =u A ff, uRR) 3t g lar o
T & S| R et fagm A vt s 37 A 3R fhan af 3 fparel afitd 9t Sfar d g faar )
U YT Ug- aTdl UR ST BT H1e! ST Bl g & 916 AP S b Pl A 37 [¥ad| b {1 141, o= d aem
i FawgRi @t v R o gfFar wR & @b et ot ued B

ST TR Y USHR - UD T Uy o1 I<R Ja1sd:

U=H- ST & T Yads [SUTen a1 Y SIRI 181 412
1. Fiifeh ISI-9S1 dhledl WR &1 g&ddh fgall 18] b |

2. FIf% A% 37 ge <@ Ul

3. XToT A UR W el fau |

4. IS STGH! oY BT TWI-IWT BH AR g U

Correct Answer :-

o SN & AGHT IT BT TWI-IWH BH AR g U1

30) ®1E 3 goR adf g, It & ft 9 &1 U N quTe ATl I/ v ve A e it AR ot i |
ST Ugd F1 8, 3R N & faraTd Ug =18t W d, 3 3% GId I 82 SuP! Ay =81 o1 fF 3rq ao o yeads
ot 718 €, 3 a8 3foeTa Y &) a1 iR @Y a1 fbR Sur-wer=al @Y, 390 IS 3R ITP Ydull &1 &
TURTH a1 T 8 1 1 o ¥9 am® ot 81 forgia wgTe & fR1-var weq 9t fiewa ot g S aim o
P AT o UoiT Y e 3R 3 a1al A 1 Haea? I ) TR % $9-57 H Ag-d $v, YUY eI Bt
SATTSHT BT T Bl 1Y 3R B GHrel ¥a | Wife o 79 U7 § a+1t 3 Tobell 8 1 bR am um I+ Sme=
T i Ta s 5 S & 98| 3 foA qrad Uit ) o o_ft ot g1t €1 a9 s A T, awdt &
THSI W &R e 8d A1 A § Rad Af 1 37 fsures = ot af smar= =12 o1 wute & smefiry = Isg
BT IU-TUT B ART | TR-TR 3R Ma-71d TAB o JFad g1Y @), SqdB! gielt Tar i gg araag si ¢
W9 99 Dt GIaR &1 Fafor g1 ¥87 411 % Rt G il fr 93-98 agel & w0 d oY, Ui 3t oig flar
A TS| 3R 5t fagm A st qeadh 3 | 3+ o i 39 fHaral aita a3t Slar & qwar fear mami
THT YT UG qTal UR TSI BT Sh1e! IS Dt Jog & 9I¢ Ab sl & Pal A 51 J&IDI ol {1 T, o d 7=
SRI® HTRREN Bt a8 ff, 58 gfrar W= & ahr ot +ft ugd &

S TR B Ugh -9 U T Uy BT 3TR ga133:
U- JYTE & 3ATGHT IT T IW1-TWT T BT I8 A?

1. foraTd ggmr ST & forg
2. daR 91 & for

3. IR 9Yd B &b oY

4. FRIRIY B Udh e & oy



Correct Answer :-

. forars geor STam & forg

Topic:- Social Science (S5C)

1) Consider the following statements and identify the right ones.
i. Warm currents bring warm water from polar regions to the equator region.

ii. Cold currents bring cold water from equatorial regions to polar regions.

fFrafafed Fy= ) faar o 3k 98 $y= 3 yga™ |

i, T YRTE, ydig & / YRy & a% T oa ard €
ii. SUST URTY, YHRET &1 | ydig &= 9 ST oId ardl 3|
1. ii only / Had ii

2.ionly / had i

3. None of the statements / 378 § ®Is -Tg!

4. Both the statements / EC@?H Sl HYH

Correct Answer :-

« None of the statements / E:Iﬁ ) ﬁ—g :@)[

2) Who remarked that "We must put an end to planning from above. We must put an end to
priorities being conceived and decided at ethereal heights, far from ground realities"? /

e ®er P, “gH HU TR A IS ST 3id ST I1ieT| 89 gars Sasal W SHiH aRafdedarsit @
o, At 3R Fuifea &Y 78 wrufrmarsit &1 st s @fgw 1

1. Rajiv Gandhi / ITSid el
2.Shri S. K. Dey /N1 TH. . 8
3. Vinoba Bhave / fa=IaT H1d

4. Medha Patkar / =) Ylch

Correct Answer :-
« Rajiv Gandhi / 151 TTieft

3) Which of the following is correct about Indus Valley Civilization? / RiYf g1} Twaar & fawg &
fFrafafaa & 3 w9 @2

i. It had well planned cities / sﬂ'ﬁ'{[ﬁnﬂﬁl’d TET A



ii. It had elaborated drainage system / Sﬂ'ﬁ od Ao arawar 4t

iii. The most common motif found on Indus Valley seals is unicorn. / ¢ g1 31 gg=i & yram o4
IS HEH ATHI FUIH T RRT arar e g

1. All are correct / 9t Tg §
2. Only ii / $dd ii

3. Only iii / $ad iii

4. Only i/ %ad i

Correct Answer :-

o All are correct / 94t Tat %

4) NITI Aayog stands for . / i 3mERT (NITI) &1 faga =u gl
1. National Institution for Training Information / EEIE| EEOEQQF[ R al?‘ill gwﬁszﬁ

2. National Institution for Transforming India / A $X DIRE 1R Q'N'QTI'V%T sfean

3. National Institution for Transition India / ERETY 5%& IR BIR c TR g%m

4. National Institution for Take India-forward / TRd s‘&dnl IRNE| Bk Ch E'%QT-W

Correct Answer :-

+ National Institution for Transforming India / A $X DIRE 1R Q'Iﬂ'qfl"ﬁ:"[ sfean

5)  Match the following:

1. Humayun A. Humayunnamah

2. Gulbadan Begum B. Badshah nama

3. Aurangzeb C. Alamgir

4. Abdul Hamid Lahori D. Insan-i- Kamil
frAafaa &1 Aae &1

1. g A, GHATL ATAT

2. TG odTH B. dIgeNG =ATHT

3. ArE=d C. e

4. 3Teqe gHIG emerd D. SeHT-U-HIHd

1. 1-A,2-B,3-C,4-D
2. 1-A, 2-C,3-D,4-B

3. 1-A,2-C,3-B,4-D



4. 1-D,2-A,3-C,4-B

Correct Answer :-
« 1-D,2-A3-C,4-B

6) Famous Women ruler Chandbibi of Ahmednagar fought to protect her kingdom against: /

HEUGTR FI YRIE AlRer Maw il 3 U= Iy FI 341 F T 39 Fos a1 at €t
1. Mughals / gTdd

2. Nizam forces of Hyderabad / §aTaTe & e a1

3. Adilshahi force of Bijapur/deTqR & Snfaa=mg! ¥

4. East India Company / 3% gfgar doet

Correct Answer :-

« Mughals/qTd

7) The purpose of field work in the teaching of social science is: / TS faF & e # wics
TH BT ST gl

1. To take note of historical events / Qﬁlﬁm el IR & a_FlT
2. To gain direct concrete experiences / Yd& 3 S{JH YTt hAl
3. To enjoy the sight seeing / TR BT g AT

4. To have more socialization / 3{{H JHTSNH IO BHIA]

Correct Answer :-

« To gain direct concrete experiences / Y& 3 S{JH YTt hAl

8) The approach that is very useful in organizing the content in history is: / ?{I%IFIW # fawg R‘fﬁ
B afRUd 31 & 1T ol RS0 98 STarh ¢, a8 g

1. Concentric approach / Hobfadm MUT

2. Topical approach / RS P10

3. Spiral approach / gita W'UT

4., Chronological approach / WW PP

Correct Answer :-

+ Chronological approach / WW BT



In which year was the battle of ‘Koregaon Bhima’ fought? / ST T B ?IG'F.% forg ad o Eﬁ
Ui

1. 1718
2. 1818
3. 1796

4, 1857

Correct Answer :-

10) strategy in which the government encourages the local production for domestic
consumption to reduce the dependency on imports. /

98 U Ford TR R SmaTd wR fARar & 0 #34 3 R Tud & fore wirig Iaure &t
Hieafed deet g

1. Export promotion / fafd Tas=

2. Tariffs / UR[ch

3. Import substitution / ST TfRRITIT
4. Quotas / HicT

Correct Answer :-
« Import substitution / 3{TATd HfARITT
11) NAFED stands for ./ NAFED &T dreqd gl

1. National Agricultural Cooperative Management Federation of India Ltd. / R bR
1Y N N e - Y .

DISHIRICT AISHS TSR 3t s ferfics

2. National Agricultural Cooperative Marketing Federation of India Ltd. / A TlidheeRd disfuRfed
Hich 1eT ¥R 31Tt $f&a fafics

3. National Agricultural and Commerce Management Federation of India Ltd. / ENEK Q‘/{nlchc"d{ TS B
e hewrH Sffth sfear fafiics

4. National Agricultural Confederation Management Fund of India Ltd. /

Correct Answer :-

» National Agrlcultural Cooperatlve Marketing Federation of India Ltd. / SRR '\‘/HChQ"CNﬂ DR



Student gathers information or knowledge by forming the association and working in team is

known as: /WWWWWWmWWW%Gﬁ?mﬁWW%,
g9 39 U A ST S1dT 8:

1. Problem-based learning / THT - TR HfETH

2. Community-based learning / THaTI-3HT ¢TI SHfTH

3. Collaborative learning / W HfERTH

4, Experimental-based learning / RIS ST T

Correct Answer :-

« Collaborative learning / TgATTYU! SHfATH

13) What is the approximate distance between earth and the moon? / q?.aﬁ R dgHT & I

Bt g AW fpat 82
1. 38400 km / 38400 fori.
2. 384000 km / 384000 fob .
3. 250000 km / 250000 T,
4.25000 km / 25000 o,

Correct Answer :-

« 384000 km / 384000 faHT,

14) When did Nadir Shah invade India? / AR 8 A YR WR o ATHHUT fHaT?
1. 1766

2. 1749

3.1759

4. 1739

Correct Answer :-

e 1739

15) ‘Local Government’ is a subject which falls under list. /
YT TWHR' TP faug-asg g ol fb At & 3iarid 3Tt g1
1. Concurrent / FHAT!

2. State / Y



3. Central / W
4. Local / AT

Correct Answer :-

« State /Y

16) Social science as a discipline is a combination of: / QT&I'UT HEqH IS ED ﬁ?ﬂq
$1 U Ao g

1. Sociology, culture, evolution, economics / THISIRE, {-i%q)I?l, Iracbli-l, SR

o O

2. Anthropology, sociology, culture, history / 'jlrak‘ll"l, THIIRIRA, {-i%cpld, _ldeld

3. History, anthropology, science, psychology / 'éi?IE;IH, 'jlraill'-l, fak'llﬂ, SRR

4. History, economics, language, music / s“i%l‘s’m, 3{@'@, YIS, i

Correct Answer :-

. Anthropology, sociology, culture, history / “JIAIT, THTSIRIRG, T¥Pid, IfAEN

17) In which state of India is Intensive subsistence paddy farming practiced? / HRd & fre

I4 | g fAafg & fore a1 &) @t vafera g2
1. Punjab / U9IT§
2. Rajasthan / TSR

3. Gujarat / T[oRTd
4, West Bengal / gfgd ST

Correct Answer :-

« West Bengal / Uf&H T

18) Who among the following established the Tattvabodhini Sabha in 1839 at Calcutta (Now

Kolkata)? / fRaferRad # A feam 1839 § a1 (3@ Siawran A dxaaift=1 IHT Bt
TYTYAT B2

1. Devendranath Tagore / SA&ATY STIR
2. Kesab Chandra Sen / %9d Ig 44
3. Ishwarchand Vidyasagar / $%439¢ f[agRFR

4. Raja Ram Mohan Roy / IS | T8 00

Correct Answer :-



« Devendranath Tagore / GagTY ¢TIR

19) Ina society the goods produced are distributed among people on the basis of
purchasing power. /

w% Tl ¥ ITfed agail B v Xfad & YR TGN & oig faaied fean
ST 2

1. Planned / ﬁ'ﬁnﬁﬂﬁ
2. Socialist / JHTSIATE]

3. Capitalist / W
4. Mixed / {3

Correct Answer :-

« Capitalist / Trﬂa'l_cﬁ

20) For teaching current events in social science, which activity is most suitable? / FTHTTST®

fagm o a<dur gemran & Riaror & forg w1 I nfafafi g Sugea 82
1. Source method / HId fafd

2. Play way method / &d gIRT fRr&rur fafey

3. Debate / dTG-fddTg

4. Lecture method / SIREAT fafgy

Correct Answer :-

« Debate / dle-Iddlg

21) FFW stands for ./ U SY (FFW) BT ﬁ?ﬂ’d g %’I

1. Food For Work / 8 R %

2. Fund Formation Window / 8 qﬁﬁﬂ:{ fder

3. Foreign Funds Warehousing / I %QH aHQSIdm‘I

4. Federation for Financing Weaker sections / WX BIR BIEARIAT dIdhR Ja-H

Correct Answer :-

« Food For Work / T8 %R d&



is the principal advisor to the Chief Minister on all matters of state policies and
administration. /

g B el ofR urea & 9 Ael R geEA STUHE@  AEeR _ garel
1. Joint Secretary / ﬂ'ﬂaﬁ i

2. Additional Secretary / 3{UX BIEE

3. Chief Secretary / H¥3H BIEE]

4. Principal Secretary / T BSICE]

Correct Answer :-

+ Chief Secretary / 3] BIECE]

23) is a body consisting of persons registered in the electoral rolls relating to a village
comprised within the area of Panchayat at the village level. /

_ o o g foras wia A et Fatae ammafedl | deiteq safed e gid
3, Sl ITH W) R U=rad & &7 9 A gt gl

1. Gram Panchayat/ 9TH UdRId

2. Gram Sabha/ UTH HHT

3. Block Panchayat/ CSICEIRG

4. Tehsil/ g9

Correct Answer :-

o Gram Sabha/ UTH JHI

24) is a programme which has been renamed as Nutritional Support to Primary
Education.

/_ ue g g, o urufire Rren & fore diwor Seraar & = u A 9w fear mar g
1. Health and Nutrition to Rural Poor / UTHIUT TRIS o1 WA 3R TS

2. Mid-Day Meal Programme / H&¥T@& IS gromT

3. Special Nutrition Programme / CELRICNEISEI

4. Nutritional Facility to Children / &=l o1 GINU b1 e

Correct Answer :-

« Mid-Day Meal Programme / H¥T@ MEERIE|



25) moved by Pandit Nehru, provided the underlying principles based on which
the Constituent Assembly completed the task of framing the Constitution. / ufsa

A% gIRT WRaTtad fobar o1, o siaf-fed Riial &1 wer b, st dfaam aur
A AU B TR FA T HR R fovam, 3P SMUR R AT

1. Executive Direction / BTIBTRI ﬁ%ﬂq
2. Orders / TG

3. Guidelines / [GRI-FAE™

4. Objective Resolution / G%’Q“C[ by

Correct Answer :-

 Objective Resolution / 3§Q€I bl

26) is held when there are more than two candidates, and none of the candidates
secures an absolute majority. /

a9 JTaiford giar 8 o9 gl ¥ it Sufigar gl §, ok #13 oft Swfigar yuf
9gHd BITd T8 BRaT 8|

1. Second Ballot / fgda AqUA (@?ﬁvséaa

2. Third Ballot / i HATH (Y3 SalC)

3. Preferential Voting / Sfea g™
4. Open Ballot / T HAUH (30 9alc)

Correct Answer :-

. Second Ballot / f§da HAUH (JHUS dae)

27) Commission enquired into several aspects of allegations of abuse of authority,
excesses and malpractices committed at the time of emergency. /

_ TERT A UTAHTA & gRE IBR, SaTgdl 3R gUITT & 3RIUl & F5
Ugq3il Bt o Bt |

1. U.C. Banerjee Commission / &Y. §ToT STINT

2. Kothari Commission / PISRI TN

3. Phukan Commission / o1 3TN

4. Justice J. C. Shah / =ITIH[d of. T1. ]MG
Correct Answer :-

+ Justice J. C. Shah / WNH%@I 1. e



28) Under whose reign was Upanishads translated from Sanskrit to Persian? / f&=1d
DT | SUMUG] BT I¥pd O BRIAT H dTe fbar ar 41?2

1. Jahangir / @HTR
2. Aurangzeb / RTOE
3. Shah Jahan / qgsTg!

4. Akbar / hsR

Correct Answer :-

« Shah Jahan / Tgwgl

29) The theory of experiential learning was introduced by: / U 1 &1 Rigia sq%
SR U faT T

1. Carl Rogers ) BTE ST
2. Tolman / RN
3. David Kolb / Sfd€ ®les

4. Bandura / g

Correct Answer :-

« David Kolb / Sfd€ ®lew

30) The most striking quality that a social science teacher needs to acquire is: / Y

graTfore fagm Riere &) sifinifea w3 & fore e gyl qur s 32

1. Frequently conducting weekly tests and assignments / 7T ATTe e URTEfur SiR SRISTHe
SIRIECEZEI]

2. A feeling of developing democratic citizenship / Al die AR f[aBRId B Bt Ua|
3. Conducting extra classes during holidays / @"@Tﬁ F R ffafkad PHETT T BT

4. Control the students and maintain strict discipline / BEI DI AT BT 3R T SR
ERLIYESCEIN

Correct Answer :-

+ A feeling of developing democratic citizenship / Al die AR f[aBRid B Bt Uia|

31) The Reserve Bank of India was nationalized in the year ./

HRTY f¥ord S &1 Irgias~or a9 # forar T T



1. 1960
2. 1950
3. 1949

4. 1951

Correct Answer :-

e 1949

32) The Constitution of India vests executive power of the Union formally in the ./

YRABTIARYE ¥ Nyaie U 99 o srdeR wfe & Afgd sar g
1. President / Tl'gclﬁf

2. Prime Minister / TTTHT

3. Cabinet / HATSA

4. Council of Minister / B3l GRYG

Correct Answer :-

o President/ Tl'gqﬁf

33) Teachers encourage divergent thinking and allow students the freedom to ask their own
questions and to learn the effective strategies for discovering the answer. This method of

learning known as/ﬁwmmﬁmm%mmﬁmqﬂwéﬁ?
IR B G & fore guTdt oo ot W= ) wad=rar &d €1 Siftnme & gg fafy

Bl

1. Problem-based learning / THT-SMHTRA fRTH

2. Technology-based learning / W-\’rﬂ yTiRd e
3. Inquiry-based learning / AV 3T 3HfeTH

4. Activity-based learning / TTITAf&- TR ST

Correct Answer :-

« Inquiry-based learning / 3AYUI-3TYTRA AfETH

34) Defining the problem, analysis of the problem, collection of data, interpretation of data,
testing hypothesis and making generalization are the procedures in: / THXT AR ERT IR
ST, T H1 fIZAT01, ST ST HUT, STl B ATRSAT, IRS AT BT URNE0T HIAT 3R
ARSI BT e § Srfyonferar g: -



1. Steps in discussion / Uit § =RT

2. Problem solving / FHIT JHTYUTT

3. Project method / BIRISE| (l;h@aa fafe

4. Supervised study plans / gddféra Sremae g

Correct Answer :-

 Problem solving / SHIT JHTYUTH

35) Which is the earliest script found in India? / HIRd A tI'Ig WM aTelt 999 ygd! fafy
CaE kit

1. Aramaic / 3RTH®
2. Kharosthi / RIS}
3. Greek / Ui

4, Brahmi / Eﬂgﬁ

Correct Answer :-

e Brahmi/ Eﬂgﬁ

36) Which of the activity is not included in inquiry-based learning? / PY-) nfafafe

YT STeTRE SHFATH F =MfAe =81 32
1. Written assignment / fafad sramgde

2. Field work / T1eS deb

3. Case studies / HY Wal

4. Group project / JHg gRareHT

Correct Answer :-

 Written assignment / fafaa smgHe

37) Which of the following British Acts led to countrywide mass protest in India? / FrafaRaa
T 9 forg fafesr siftfFraw & srRor yRa o Azreardt amgfes favty fosar mar?

1. The Press Act 1910 AD / 09 3iff9TH 1910 SHdt
2. Rowlatt Act 1919 AD /e Tae 1919 STt

3. Multifanged Defense of Indian Rules 1915 AD / YRdR 0 1915 $3d! &1 Sgueia &m

4. Indian Criminal Law Amendment Act 1908 AD / HRT TORI®H CabG! T A 1908 STdT



Correct Answer :-

« Rowlatt Act 1919 AD /e Tac 1919 S9dT

38) Which ruler of medieval India was credited for construction of Grand Trunk Road? / ¥s

TF s & i &1 9 AT URd & f5d IIe &) foar war 41?2
1. Aurangzeb / 3RS

2. Babur / dTsR

3. Sher Shah / *R-]MME

4. Akbar / 3fpsR

Correct Answer :-

« Sher Shah /3R-TM8

39) Which ruler authorized British East India Company to trade with the East? / f&d II®
= fafewr v T Uit ®1 $3¢ & 1Y SATUR F= & fore siftrgpa far?

1. Elizabeth I/ Tferamay 1
2. Elizabeth I1 / Tfersmey 11
3. Elizabeth I1I / Tferaray 111

4, Elizabeth IV / Tfeiey IV

Correct Answer :-

« Elizabeth I/ Tforomey I

40) Which among the financial institutions prescribed Liberalisation, Privatisation and
Globalisation model as part of stabilization and structural adjustment mechanism during
19912/

1991 & SR 3 faxitg Il A A fraa IR, fAsiiezur 3k asfie o ufaw=
P RS 3R GEATHS JAMISH dF & B & v & Fuiia fear g2

1. International Monetary Fund and World Bank. / 3{<RTSId gl HIY 3R fay 9%

2. International Monetary Fund and Asian Development Bank. / G‘FR_T@H Hal DY 3R TR
faepry o

3. International Bank for Reconstruction and Development and World Trade Organisation. /

SARRIBIY GAHTTT 3R IhT o 3R fay IR Tire

4. World Bank and Asian Infrastructure Investment Bank. / %’H §& 3R Qﬁm‘s‘ ERSIRCER
ESCR A



Correct Answer :-

« International Monetary Fund and World Bank. / 3FRISTd a1 1Y 3R fay d%

41) Which among the following skills is not essential for a social science teacher? /

Fruafeafad & 9 #1991 Fivra g fagmE & v Rige & forg siffard a8 82
1. Drawing, explaining, revising, reviewing / 3R , U hRT, BRI CRGIN FHieT HRAT

2. Questioning, eye to eye contact with students, reciting / UH DI, I Y 3Gl BT Hueh ERIGIA
qui BT

3. Precision, computation, measurement / ql?%g@al, HIUMAT, HIY

4, Voice modulation, eliciting responses, elaborating / 3TdTS ﬂ@?ﬂ, Qﬁlﬁﬁ_qm YTt DRI,
YTRAT hAl

Correct Answer :-

« Precision, computation, measurement / qwgl@(‘ll, HITUTAT, HIY

42) Which type of help and assistance is required for a student who is extraordinary brilliant

in the school? / faeITerd # T MTYRUT UfaHTRITeN BT & iU f5y R &1 Tgraar eiv
YR 1 TG d gl 82

1. Gifted classroom environment / TTTHTRITET DET hT Il'l_af“[

2. Providing him enriched environment / o5l HHex AIdIARUT UGl ]
3. Provision for special education / ICELRRIETRICEIS]
4. Providing additional assignments / 3fARad BT U™ HRAT

Correct Answer :-

« Gifted classroom environment / UTTHTRITEN BT BT 'J:I'Iaﬁ

43) Which type of weathering agent/process is more active in a limestone area? /
5 PR BT 3uer, FHG/HfHaT TH TAT URR 85 § e afha gar g 2
1. Insolation / ATdU-

2. Vegetation / <dfdl

3. Frost / JUR (3h1¥C)
4. Carbonation / BTIHEIHRT (BTHL)

Correct Answer :-



~

« Carbonation / BTEHCIDHRUT (DHTHRI)

44) An example for formative evaluation is: / Nuae W DI 3qleR0l %’I
1. Monthly test / ATRIh TRI&T0T

2. Practical test / TTAITeh URI&0T

3. Teacher made test / TRI&h GRT URI&0T

4, Rating scale / IR G|

Correct Answer :-

« Monthly test / AT TRI&0T

45) Where is the Ibadatkhana, the place built by Akbar for learned men from all religions
were called for discussion, situated? / 3FaR GRT ST 1T WM “FaIGa@HT, gl A4 sifaal &
fagr &t ==t & fore garar Smar o, $81 8?2

1. Fatehpur Sikri / BdgqR R
2. Lal Qila / @reT fobett
3. Sikandara Fort / Ry farar

4. Agra Fort / 3TRI &1 favall

Correct Answer :-

« Fatehpur Sikri/ ®dgqR Riadt

46) CANCELLED

Which COP (Conference of Parties) resulted in the formulation of the Paris Agreement? /
fa cop (wféal &1 awa) & uRumaRas=y Ui ausid &1 fmfor gam

1. COP 18

2. COP 21

3. COP 15

4. COP 23

Correct Answer :-

« COP 21

47) CANCELLED



The Minimum Support Price was introduced in India in the year ./
Faa @ URadad U= fearmaran

1. 1964

2. 1954

3. 1974

4. 1984

Correct Answer :-

« 1964
48) CANCELLED

Who among the following is the proponent of ‘Pragmatism’? / Frafafeaq 4 9 «oragRare”
BT YIS DI 82

1. B.F. Skinner / Eﬁw PR

2. Albert Bandura / 3{cdc EIRY

3. Adam Smith / TSH Y

4. Soren Kierkegaard / IRA BIHTS

Correct Answer :-

« Soren Kierkegaard / TR PITTS
49) CANCELLED

Who is the main exponent of concentric approach in curriculum? / YTGUHH H T fed

=¥ &1 =T ufaures $i4 82
1. Crowder / SIS
2. Skinner / fpR

3. Bandura / I
4. Burner / %

Correct Answer :-

. Burner/a:h

50) CANCELLED



Who took the initiative to convene the Asian Relations Conference in 1947? /

1947 # TRMATE day I @RrA Raw=a $1369) smaiford &3 @t ugd feaa o912
1. Yugoslavia / Tﬂm

2. China / IH

3. India / HRd

4. Egypt / i

Correct Answer :-

o India/ HRd

51) CANCELLED
Who created Indian National Army (INA)? / R ITP1T AT (3MEEQ) &1 fAafor foram fasar ur?
1. Peshwa Bajirao / PRGN

2. Saiffuddin Kitchlew / SFHE A fhae]
3. Madan Lal Dhingra / {iG ATl @IV
4. Netaji Subhash Chandra Bose / =IdToll gHTY 9% a

Correct Answer :-

« Netaji Subhash Chandra Bose / drsit JHY T CIS|

52) Chitrasutra of Vishnudharmottara Purana documents the following cave paintings:

 frsperAiR 101 & ferrga & Frafafea 1o fosfl & emera &
1. Elephanta Cave / TeiiteT T[0T

2. Nasik Cave / =R¥b 0T

3. Ajanta Cave / 3{Sidl T

4. Bhaja Cave / YdIl BI1

Correct Answer :-
« Ajanta Cave / 3fSIdl 70T

53) Which of the following is also known as Microlithic period? / Faffaa & 3 faa
guTToft BT & = H ot FET AT 872

1. Neolithic / qUTYT HTd

2. Paleolithic / UT¥T0T dTet



3. Chalcolithic / d&gT
4. Mesolithic / A& UryTol

Correct Answer :-

« Mesolithic / 9 gmyTo1

54) Who hoisted the national flag at Gowalia Tank Maidan in Mumbai during ‘Quit India
Movement’? / “HRd BIS! 3G’ & SR Ga3 & Marerdar ¢ AgH A fPua WP @ wewmar 412

1. Jawaharlal Nehru / STaTgRdTdl A8
2. Aruna Asaf Ali/ /50T 3TE% 3t
3. Mahatma Gandhi / 78T i
4. Sarojini Naidu / SRS Aag

Correct Answer :-

o Aruna Asaf Ali/ 33Ul 3TE (et

55) Lines connecting places having the same barometric pressure is . HHTA aﬁﬁﬁﬂ?

EEATA R B SAISA TN I@E gt &
1. Isoheight / THS TS 3T (FHIGTEC)

2. Isohyet / THIH! X@T (IMZIRIT)

3. Isobar / THYR T (3SHIER)

4. Tsotherms / THATY-XT (3MFEYH)

Correct Answer :-

« Isobar / FHHR X (3TSHER)

56) Which of the following mountain ranges forms the longest mountain chain in the world?
/ FrafafEa & @ o149 9t uda @ fay o1 a9 ot uda g z?

1. The Rockies of North America / 3TR SR & b Iol

2. The Andes of South America / GI&0T MAR®T %Q'U_éﬁ\_r[

3. The Great Dividing Range of Australia / m &1 U faUTSTe TaaaTa

4, The Transantarctic Range / UR-3{eTh cdh TaaHTan

Correct Answer :-



« The Andes of South America / GI&0T ARST % TUSTH

57) What is Chernozem? / TITH T %?

1. Lateritic soil / TIeRTSC Hal
2. Red and yellow Soil / @Te 3R et 7T

3. Deltaic alluvial soil / S¢T] UIC1\I<§ Hal

4. Black Soil / PTelt aT

Correct Answer :-

« Black Soil / PTell gaT

58) The Jhamarkotra mines of Rajasthan are best known for which among the following
minerals? /

ST Bt RSB W1 Bt FAafafad @fei & 3 fFad fore siftre s smar g2
1. Rock Phosphate / Jd BT

2. Lime Stone / AT YRR

3. Zinc / SRl

4, Mica / YD

Correct Answer :-

« Rock Phosphate / AP R

59) The word “El Niiio” comes from which among the following languages? /

e A1 2eg FrafEa & @ ey urar § forar mar 82
1. French / Thd

2. Arabic / 3l

3. Spanish / TR

4. Portuguese / H?h'ﬂ?ﬂ

Correct Answer :-

« Spanish / Wi

60) Vikramshila Gangetic Dolphin Sanctuary is located in which among the following states of
India? /



fasrafRren 7 ST sruaRvy, YR & Fafifed & 9 e v & [ 22
1. Bihar / [98R

2. West Bengal / Uf8H §TITcT

3. Assam / 3TH

4, Uttar Pradesh / SR Ul

Correct Answer :-

. Bihar/f98R



